

**SPECIFICATION OF EQUIPMENT,
FURNITURE, ASSISTIVE TECHNOLOGY,
TEACHING MATERIALS AND SUPPLIES,
TECHNICAL READINGS AND TOOLKITS
FOR CHILD ASSESSMENT AND
MONITORING AT THE CENTRES FOR
DEVELOPMENT OF INCLUSIVE
PRACTICE IN THE UNA-SANA CANTON**

– CITY OF BIHAĆ – Satellite school of the
Harmani II Elementary School, Žegar

– MUNICIPALITY OF CAZIN – Cazin II Elementary
School

1. INTRODUCTION

The development of inclusive practice is a continuous process that requires a comprehensive approach to children with disabilities from the earliest childhood. Early intervention has been recognized as the most effective approach to the development of an inclusive society and implies inclusion of a child with disabilities in therapeutic procedures from the very moment of detection of a disability. In order for inclusion to actually become the standard of a society, in addition to children, social community members should also be part of treatment by means of knowledge management, skills and competences development, as well as sensitization programs.

Centres for Development of inclusive practice in Bihać and Cazin are being established with the aim of comprehensive approach to inclusion and will focus their efforts on therapeutic procedures involving children with disabilities and their family members, as well as social community members, first of all experts, who will acquire the necessary knowledge, skills and competencies through informal and formal lifelong learning programs of inclusive society development.

This study contains the specification of equipment, furniture, assistive technology, teaching tools and supplies, technical readings and toolkits for the assessment and monitoring of children with disabilities based on examples of good practice in countries that have already established inclusion development centres¹. Spain is an example of good practice worth mentioning and used to develop the given specification. Through its ONCE organisation, Spain provides a comprehensive support to the development of inclusion from early childhood intervention, through support during the upbringing and education of children and youth with disabilities, to the inclusion of disabled people on the labour market. At first, Centres for Development of Inclusive Practice in Bihać and Cazin will correspond to the early childhood intervention segment and support during the upbringing and education of children and youth with disabilities, while the prospects of these Centres enable expansion in the area of support in labour market inclusion for persons with disabilities.

An example of the Swedish model is based on habitation centres where support is provided to all inclusion development systems for children and persons with disabilities through the establishment of a division for therapy, family support and support to educational, health and social institutions for the social inclusion of children and youth with disabilities and disabled persons. These centres gather experts who provide daily therapeutic treatment for children, organize continuous support to schools and are available for family members on a daily basis through counselling and psychosocial support. In terms of organisational structure, Centres for Development of Inclusive Practice in Bihać and Cazin with their concept of operation and equipment will correspond to the described habitation centres.

The Republic of Croatia² and Montenegro³ have established resource centres with the role of providing support to educational institutions through the work of mobile expert teams and

¹ Through habitation centres in Sweden, through early intervention and inclusion support centres in Croatia (in non-governmental organisations), through resource centres in Montenegro, through ONCE organisation for support to children with disabilities and disabled persons from early intervention to labour market in Spain.

² Zagreb Rehabilitation Centre, Centre for Upbringing and Education Velika Gorica, Šubićevac Centre, etc.

³ Resource Centre 1 June, Resource Centre Kotor, Resource Centre Podgorica

providing direct support to children with disabilities through rehabilitation procedures within the Centres. In addition to resource Centres, the Republic of Croatia established the Day Centre for the Rehabilitation of Children and Youth *Mali Dom*, which operates in the City of Zagreb and implements nationwide activities. The primary aim of the institution is early detection of children with disabilities and early re/habilitation treatment with the aim of smooth social inclusion of children with disabilities through the educational system. In operational terms, the Centres for Development of Inclusive Practices in Bihać and Cazin will partly correspond to the work of the mentioned resource Centres as well as the *Mali Dom* institution.

This study and specification of equipment, furniture, assistive technology, teaching tools and supplies, technical readings and toolkits for the assessment and monitoring of children with disabilities is based on the above examples of good practice and represents a standard in the development of inclusion considering that it covers the needs of children and young people with disabilities from the initial detection of disabilities and throughout the entire period of upbringing and education. The specific items in this study are aimed at fostering child development according to the development fields⁴, and based on the established re-habilitation divisions that will operate at the Centres for Development of Inclusive Practices in Bihać and Cazin.

2. CONTEXT OF OPERATION OF CENTRES FOR DEVELOPMENT OF INCLUSIVE PRACTICE

The given specification relates to two Centres for Development of Inclusive Practice: 1. Centre in Bihać, located in the regional facility of the Harmani II Elementary School, Žegar and 2. Centre in Cazin, located in the building of Cazin II Elementary School. Both Centres aim at raising the level of quality and accessibility of services aimed at developing inclusive practices for social inclusion of children with disabilities through providing direct support to children and their parents.

In each of the two mentioned Centres, a total five divisions will operate:

- Speech therapy division,
- Physiotherapy division,
- Occupational therapy division,
- Sensory therapy division and
- Psychosocial therapy division.

Along with the aforementioned divisions, a Knowledge Centre and a Mobile Expert Team will be formed within each Centre. The Knowledge Centre will enable training, courses, education, supervision and consultations of in-house experts on the types and ways of providing support to children with disabilities and their parents with the aim of developing inclusive practice. Mobile expert teams will have the role of directly supporting educational institutions in

⁴ Speech and language development, motor development, cognitive development, sensor development and socio-emotional development.

developing inclusive practice through continuous visits to institutions, observation, consultation and joint individualization in accordance with the needs, interests and abilities of each child.

The remaining sections of this document will firstly describe the objective of each of the divisions and the specification of the necessary equipment and tests for diagnostics and monitoring.

2.1. SPEECH THERAPY DIVISION

Despite the significant advancement of modern technologies, speech remains to be an important function of an individual for successful communication and more inclusive involvement in the community. The quality of life depends on communication skills of both an adult and a child. Language and speech are integrated in all aspects of human life: interactions with other people, the ability to express one's own thoughts and feelings, as well as understanding of others. Without properly developed speech, learning becomes difficult both in terms of learning to read and write as well as acquiring knowledge, skills and habits.

Today's world statistics speak of a significant increase in the number of language or linguistic disabilities in children that can be observed in the context of social communication. Since speech development is largely conditioned upon social communication, neglecting the development of child socialization or inadequate social contact of the environment with the child from the earliest age can often lead to the development of speech or linguistic disabilities. Since children with disabilities are particularly exposed to reduced social contact with the environment (notably peer contact), speech and linguistic disabilities combined with some other child disorders can be expected more often (e.g. intellectual disorders, attention deficit/hyperactivity disorder, cerebral palsy, etc.).

The role of the speech therapist is twofold. Firstly, it is important that the speech therapy division acts to prevent the development of certain speech and language disabilities by informing parents and experts about ways to foster speech development and identify early signs of speech or language disabilities in order to include children as early as possible in the support system. In addition to its preventive role, the speech therapy division entails also diagnostic and therapeutic role through direct support to a child with speech or language disabilities and their parents. Lastly, emphasis should also be attached to the importance of educational role of speech therapy division, where every in-house expert (kindergarten, school, paediatric staff, etc.) can seek advice on how to foster the development of speech in a child.

Proper speech development and timely inclusion of a child with speech or language disabilities in the support system through the speech therapy division greatly influences the socio-emotional development of the child. With the elimination or reduction of existing disabilities, it directly affects the development of a positive image of oneself which affects the emotional development of a child.

Speech therapy divisions at the Centres for Development of Inclusive Practice will be equipped with modern diagnostic instruments, as well as the technology and teaching tools necessary

for the implementation of therapeutic procedures⁵. Part of the Knowledge Centre will also be equipped with most recent readings in the area of prevention, diagnostics, early intervention and speech or language disabilities.

2.2. PHYSIOTHERAPY DIVISION

By its definition, physiotherapy is aimed at developing, maintaining and restoring the maximum mobility of an individual at any age⁶. Since physiotherapeutic procedures are mostly focused on improving the function of muscles or movements, it could be observed as a medical model of approaching the child. However, if we take into account that the Physiotherapy Division within the Centre for Development of Inclusive Practice will apply a multidisciplinary approach to every child, it is clear that in this context physiotherapy represents only one segment of support for children with disabilities.

The inclusion of children with motor disorders (e.g. cerebral palsy, muscular dystrophy, muscle tone disorders - hypertonia, hypotonia, etc.) is extremely important for the overall child development, but also for their functioning within the regular system. The more correct body posture affects the child's concentration and attention as well as perception abilities, which is directly related to the adoption of learning contents, the development of socialization and cognitive development. Timely involvement of a child in the Physiotherapy Division enables that the support results in a better quality of life by increasing the functionality of the child.

Physiotherapy division within the Centres for Development of Inclusive Practice will be equipped with diagnostic tests and state-of-the-art equipment for providing physiotherapy treatment to a child⁷. In addition to modern equipment, employees - physiotherapists will be trained to implement the modern physiotherapy procedures to detect, prevent and treat the disabilities caused by the changed function of the locomotor system. Part of the Knowledge Centre will also be equipped with most recent readings in the area of prevention, diagnostics, early intervention and therapy of motor disorders by implementing physiotherapy procedures.

2.3. OCCUPATIONAL THERAPY DIVISION

Occupational therapy is an important segment of preparing a child to function independently in daily life activities that include self-care, productivity and pastime. For children with disabilities, it is extremely important to develop the skills and abilities that enable them to become independent. This segment of support to children with disabilities often stands out as more important than the adoption of academic skills through the educational process, as it significantly influences the socialization of children, which is crucial in raising the quality of life of a child in an inclusive society.

⁵ More information on the specification in Chapter 3

⁶ Definition taken from the webpage of the Croatian Chamber of Physiotherapists: www.hkf.hr

⁷ More information on the specification of equipment in Chapter 3

The Occupational Therapy Division within the Centres for Development of Inclusive Practice will primarily focus on encouraging children to participate actively in the selected activities so that the child will be able to develop/maintain/adapt the necessary skills, adjust the activity or modify the environment in order to encourage active participation. These interventions will help prevent the child's dependence on other persons (parents, educators, teachers, therapists, etc.), which will increase the quality of life of the child, as well as the family members.

In addition to providing direct support to a child, the Occupational Therapy Division will provide support to parents and other family members as well as all regular system participants involved in working with the child in order to achieve harmonised action in developing child's independence.

The Occupational Therapy Division within the Centres for Development of Inclusive Practice will be equipped with tests for diagnosis and monitoring of child progress as well as modern equipment required for quality therapeutic procedures⁸. Part of the Knowledge Centres will also be equipped with most recent readings in the area of prevention, diagnosis, early intervention and therapy by means of occupational therapeutic procedures.

2.4. SENSORY THERAPY DIVISION

Every individual, regardless of the age, experiences the environment through seven sensory channels (tactile, vestibular, visual, auditory, gustatory, proprioceptive, and olfactory). Nowadays, sensory processing disorders are increasingly common in children with disabilities, regardless of the type of disability. When a child experiences a reduced ability to unify all stimuli in a unique experience, it is an indication of the sensory integration dysfunction.

Practical experiences show that the Ayres method of sensory integration improves the quality of adaptive behaviour of the child and enables appropriate response to the stimuli of the environment. The operation of the Sensory Therapy Division within the Centre for Development of Inclusive Practice will be based on the aforementioned method. The objectives and purposes of the sensory therapy within the Centres will be focused on increasing the duration of response to the sensory stimulus, developing adaptive response, increasing confidence and self-awareness, improving cognitive abilities, speech skills, improving the quality of educational performance and developing social skills.

The Sensory Therapy Division within the Centres for Development of Inclusive Practice will be equipped with the tests for diagnosis and monitoring of child's performance as well as modern equipment necessary for quality therapeutic procedures⁹. Part of the Knowledge Centre will also be equipped with most recent readings in the area of prevention, diagnosis, early intervention and therapy by means of sensory therapy procedures.

⁸ More information on the specification of equipment in Chapter 3

⁹ More information on the specification of equipment in Chapter 3

2.5. PSYCHO-SOCIAL SUPPORT DIVISION

Providing psycho-social support to parents, family members and children with disabilities is of great importance for a balanced approach in fostering child development. Empowered parents are crucial in safeguarding the rights and providing support to children, and the psychological stability of parents is one of the prerequisites for good quality and competent parenting.

In the Psycho-social Support Division, parents and family members will get information on the psycho-social development of the child, providing support to children with disabilities, methods of fostering development of child's abilities, the use of teaching tools in order to foster development, the importance of a parent-child relationship, development of child's self-awareness and self-esteem, influence of the environment on child's development, the importance of playing for the development of child's functioning and exercising rights embedded in the educational, health and social welfare systems.

In addition to the above information, parents will be provided with the advisory support in order to overcome the psycho-social obstacles caused by the fact that they have a child with disabilities, as well as by environmental reactions to that fact. The Psycho-social Support Division will also be a place where parents will receive all the relevant information about possible further inclusion in treatments available outside of the Centre for Development of Inclusive Practice in BiH and neighbouring countries.

In addition to staff of the Psycho-social Support Division being trained on the ways of dealing with parents, family members and children with disabilities, part of the Knowledge Centre will be equipped with most recent readings in the area of consultation, quality and competent parenting and other areas relevant for family empowerment aimed at fostering child development.

2.6. MOBILE EXPERT TEAM

In accordance with the requirements of the educational institution, the Centre for Development of Inclusive Practice determines the composition of the mobile expert team (MET) and sends experts to the educational institution. Upon arrival in the educational institution, MET members come into the group/class where they spend at least 45 minutes in observing how a child/student behaves in a group of peers, teachers, educators and nursing/teaching assistant (if any). After observation of the child/student behaviour, in consultation with the teachers, educators and nursing/teaching assistants, MET members plan a form of support to the child/student by analysing interventions that are already being used, to what extent they can be improved and what additional methods could be introduced. Also, on the basis of observed situation, MET members prepare additional materials and readings for teachers, educators and nursing/teaching assistants, and over a long-term period, they build capacities of the educational professionals employed in the institution to be able to independently plan activities with a particular child/student.

MET members actively participate in setting the level of support to the child/student together with the staff of the educational institution and members of the Child Support Assessment

Committee for a period of 30-40 days. During this period, MET members come to school twice a week and, upon expiration of the student observation period, they make a joint conclusion on the necessary level of support based on which they provide support to educators/teachers in developing the individualized or tailor-made program.

The final outcome of the systematic work of MET with educational institutions is the development of inclusive educational institutions that will have competence to independently plan support for children/students with disabilities and thus increase the quality of inclusive practice.

Mobile expert teams will be equipped with modern assistive technology that is used in educational activities at the Centres for Development of Inclusive Practices, and will have sufficient quantities of supplies in order to provide quality support to educational institutions to plan, develop and implement individualized educational programs.

2.7. KNOWLEDGE CENTRE

The Knowledge Centre will operate within each Centre for Development of Inclusive Practice with the aim of permanent improvement of the quality of inclusive practice in all segments of the society. The Knowledge Centre will be responsible for monitoring of contemporary trends in the area of inclusion and dissemination of knowledge and skills for all stakeholders in the inclusion process (employees in the education system, health system, social welfare system and other segments of the society). The Knowledge Centre will organize and conduct trainings and courses with the aim of improving the skills of all those involved in the development of an inclusive society, take care of the supply of most recent literature from all areas of operation of the Centres for Development of Inclusive Practice and provide advice and supervision services to educators, teachers, nursing professionals, doctors, social workers and others involved in supporting children with disabilities and their families.

Knowledge Centres are responsible to permanently update the Centres for Development of Inclusive Practice in order to upgrade them into Centres that monitor and improve the quality aimed at development of an inclusive society.

In addition to readings, Knowledge Centres will be equipped with modern hardware and software solutions that will facilitate knowledge transfer.

3. OBJECTIVE OF FURNISHING CENTRES FOR DEVELOPMENT OF INCLUSIVE PRACTICE

Centres for Development of Inclusive Practices in the municipalities of Bihać and Cazin will be reconstructed, accessible, modern and adequately equipped Centres that will fully meet all standards for inclusion monitoring, development and improvement. Their operation will make

them become an example of good practice advisable for replication in all Una-Sana Canton municipalities, but also throughout Bosnia and Herzegovina.

The primary Centre beneficiaries will be children from birth to 18 years of age, parents of children with disabilities, their family members and all stakeholders in the process of inclusive society development (through the Knowledge Centre services). The support of the Centre will focus for the most part on children until the completion of primary school, while services of the Psycho-social Support Division and other divisions, if necessary, will focus on children and youth of secondary school age.

While support Centres for children with disabilities operate in other countries¹⁰ with the objective to ensure their better inclusion in the social community, such centres still do not exist in BiH. Centres for Development of Inclusive Practice will be role models of this practice in Bosnia and Herzegovina and will significantly differ from special institutions as they will complement the regular educational institutions and other regular institutions of the system. Their operation does not imply exclusion of children from the regular system, but only providing the necessary therapeutic support to children who will continue to regularly attend educational institutions.

Unlike most institutions that provide partial support to children with disabilities, Centres for Development of Inclusive Practice will be equipped with state-of-the-art equipment in the field of speech therapy, physiotherapy, work and sensory therapy and psycho-social support, which will imply comprehensive multidisciplinary and quality support. Centres will provide support not only to children with disabilities, but also to their parents, family members, and also all members of the society involved in the development of inclusion. Furnishing of the Knowledge Centres will enable that the Centres for Development of Inclusive Practices continuously improve therapeutic procedures, support and trends in the field of inclusion.

By supplying the equipment to the Centres, the social services network is expanding and the services are becoming more accessible to each beneficiary and represent innovation through the use of assistive technology and tailor-made teaching tools to be used in therapeutic procedures.

4. SPECIFICATION OF EQUIPMENT, FURNITURE, ASSISTIVE TECHNOLOGY, TEACHING AIDS AND SUPPLIES, TECHNICAL READINGS AND TOOLKITS FOR CHILD ASSESSMENT AND MONITORING

This section will include detailed specifications of the toolkits for child assessment and monitoring, including equipment, assistive technology, teaching tools and supplies and furniture for divisions to be established in the Centres for Development of Inclusive Practice. A list of technical readings will be indicated in section 3.7. „Knowledge Centre“, since all readings will be located in the Knowledge Centre and available to all employees of the Centre for Development of Inclusive Practice.

¹⁰ For example, Sweden where Habitation Centres exist

4.1. SPEECH THERAPY DIVISION

CHILD ASSESSMENT AND MONITORING TOOLKIT					
No.	Name	Supplier	Quantity	Unit price (KM)	Total price (KM)
1.	102-01-Reynell RLJG	1. Naklada Slap d.o.o. Dr. Franje Tuđmana 33 10450 Jastrebarsko CROATIA Tel.00385 1 6281 774; 00385 1 6284 001 E-mail: nslap@nakladaslap.com	2	1,000.00	2,000.00
2.	102-02-Reynell – protocols		400	0.93	372.00
3.	102-90- Reynell RLJG Manual		2	43.80	87.50
4.	101-01-PPVT/III Test		2	130.00	260.00
5.	101-02-PPVT/III LO		400	2.00	800.00
6.	101-90-PPVT/III Manual + standards		2	98.00	196.00
7.	106-01-KORALJE questionnaire for infants		300	2.50	750.00
8.	106-02-KORALJE questionnaire for toddlers		300	2.50	750.00
9.	106-90-KORALJE Manual		2	62.50	125.00
10.	Assessment and fostering motor and perception and speech abilities		1. LEFTOR d.o.o. POINT bookshop 2 Aleja Alije Izetbegovića 10, 75 000, Tuzla Bosnia and Herzegovina Tel: +387 35 225 027 Fax1: +387 35 225 027 Fax2: +387 35 364 039 E-mail: point@knjiga.ba (Publisher: Školska knjiga Zagreb)	4	159.50
GRAND TOTAL					5978.05

--	--	--	--	--	--

THERAPEUTIC TOOLS

No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
1.	Talk Tools: - Honey Bear w/Flex Straw 	1. Sanitetska kuća SimBex Trnjanska 59a 10000 Zagreb Tel: +385 1 63 14 449 Fax: +385 1 63 14 447 E-mail: info@simbex.hr	A bear-shaped bottle with flexible straw. It is used to stimulate oro-facial muscles during speech therapy in order to strengthen the muscles used for the formation of sounds.	Plastic	2	21.00	42.00
	- Straw kit 		The set serves to encourage tongue retraction and controlled tongue movements, as well as to distinguish jaw-tongue-mouth through twelve development stages. It is used in speech therapy to manage speech or language disabilities in pronouncing sounds.	Rubber	2	74.00	148.00
	- Chewy tube		Chewy Tubes are innovative oral-motor tools designed to provide elastic chewing surface to practice biting and chewing, and help prevent jaw compression. It is used in speech therapy with children experiencing increased muscular tone, as well as in speech disorders.	Rubber	2	21.00	42.00



- Original Horn kit



- Tongue Tip Lateralization and Elevation Tools

Original Horn Kit is designed to normalize oral muscles, correct articulation errors, improve speech clarity, and also serve as a condition for mouth-nose contrasts. It is also used in nasal pronunciation to achieve differentiation of the mouth-nose.

Plastic

2

77.00

154.00

A tool for learning how to move tip of the tongue and improve eating skills and speech clarity. It is used to strengthen the muscles responsible for swallowing and voice pronunciation.

Plastic/
metal

2

58.00

116.00

							
	- Bite Block 		Serves to exercise strength and stability of the jaw. The tool can also be used to train the jaw and muscle position during speech. Colour: red.	Plastic/ rubber	2	76.00	152.00
	- Talk Tools Sensory Bean Bag Kit 		A pillow-shaped tool for children with tactile defence habits, as well as for children with face hyposensitivity or hypersensitivity. It is used in speech therapy for children with sensory disability.	Cloth/ sponge	2	100.00	200.00
2.	Vibrophone	ASCOM d.o.o.	Vibrophone is a speech therapy tool for articulation	/	2	2,900.00	5,800.00

		Put Izudina Alićehajića, Industrijska zona Bukva 74260 Tešanj Bosnia and Herzegovina Tel: +387 32 655-855 Fax: +387 32 656- 781 Email: ascom@ascom.ba	disorders, which accelerates the therapy and achieves outstanding results in a short time. The set already contains 50 pre-arranged and saved programs (applications) that are easy and quick to activate. The set is not limited or linked to any particular rehabilitation method and can be used in most rehabilitation procedures and with any rehabilitation method. It contains the following components: - three types of digital filters: terrestrial graphic, parametric and dynamic equalizer (0 - 60 dB), - dynamic sound processor (limiter, compressor and expander), - digital delay (0-300 ms), - real time analyser.				
GRAND TOTAL							6,654.00

BOOKS AND COLOURING PAGES						
No.	Name	Supplier	Publisher and year of publishing	Quantity	Unit price (KM)	Total price (KM)
1.	Bobi Learns to Count, Lj. Car-Matutinović	1. LEFTOR d.o.o. POINT bookshop 2 Aleja Alije Izetbegovića 10, 75 000, Tuzla Bosnia and Herzegovina Tel: +387 35 225 027 Fax1: +387 35 225 027	Naša djeca d.d.	2	5.00	10.00

		<p>Fax2: +387 35 364 039 E-mail: point@knjiga.ba</p> <p>2. Naša djeca d.o.o. Publishing Velika cesta 90, 10 020, Zagreb, Croatia Tel. +385 1 39 09 460 Faks: +385 1 39 09 468 E-mail: prodaja@nasa-djeca.hr</p>				
2.	<i>Ide maca oko tebe,</i> EGMONT	1. LEFTOR d.o.o. POINT knjižara 2	Egmont d.o.o., 2015.	2	8.00	16.00
3.	<i>Eci peci pec,</i> EGMONT	Aleja Alije Izetbegovića 10, 75 000, Tuzla	Egmont d.o.o., 2015.	2	8.00	16.00
4.	<i>Suprotnosti,</i> L. Marušić	Bosnia and Herzegovina Tel: +387 35 225 027	Leo Commerce d.o.o., 2014.	2	9.00	18.00
5.	<i>Domaće životinje,</i> L. Marušić	Fax1: +387 35 225 027 Fax2: +387 35 364 039 E-mail: point@knjiga.ba	Leo Commerce d.o.o., 2014.	2	10.00	20.00
6.	<i>Osjeti i opipaj -</i> <i>Brojevi,</i> M. Wolf	2. Mondo.hr, 24sata d.o.o. za nakladničku djelatnost	Leo Commerce d.o.o., 2011.	2	23.00	46.00
7.	<i>Pikov rođendan -</i> <i>zvučna,</i> E. Hill	Oreškovićeve 6H/1, 10 010 Zagreb, Croatia	Mozaik knjiga, 2010.	2	25.00	50.00
8.	<i>Pomakni i otkrij -</i> <i>boje</i>	Kontakt putem online obrasca: http://mondo.hr/contacts/	Lusio d.o.o., 2011.	2	15.00	30.00
9.	<i>Moje prve riječi,</i> group of authors		Leo Commerce d.o.o., 2013.	2	10.00	20.00
10.	<i>Velika knjiga</i> <i>aktivnosti i vježbi</i> <i>za razvoj govora,</i> T. Tkačenko	1. LEFTOR d.o.o. POINT knjižara 2 Aleja Alije Izetbegovića 10, 75 000, Tuzla Bosnia and Herzegovina Tel: +387 35 225 027 Fax1: +387 35 225 027 Fax2: +387 35 364 039 E-mail: point@knjiga.ba	Planet Zoe, 2012.	2	38.00	76.00

		2. DOBRA KNJIGA d.o.o. - KNJIŽARA LJEVAK Trg bana Josipa Jelačića 17, 10 000 Zagreb, Croatia Tel: +385 1 4812 992 E-mail: knjizara-ljevak@knjizara-ljevak.hr				
11.	<i>Kako D postaje R,</i> A. Zorić, K. Pavičić Kozina	1. LEFTOR d.o.o. POINT knjižara 2 Aleja Alije Izetbegovića 10, 75 000, Tuzla Bosnia and Herzegovina Tel: +387 35 225 027 Fax1: +387 35 225 027 Fax2: +387 35 364 039 E-mail: point@knjiga.ba 2. Alinea d.o.o. Vlaška 66, 10 000 Zagreb, Croatia Tel. +385 1 4655 061 Fax. +385 1 4655 058 E-mail: aline@zg.htnet.hr	Alinea, 2007.	2	20.00	40.00
12.	<i>Enciklopedija razvojnih igara, D.</i> Popov	1. Logovita d.o.o. 88000 Mostar Tel./faks: +387 36 328 020 E-mail: logovita@tel.net.ba	Planet Zoe, 2010.	2	28.00	56.00
13.	<i>200 logopedskih igara – 5th edition,</i> I. Posokhova	2. LEFTOR d.o.o. POINT knjižara 2 Aleja Alije Izetbegovića 10, 75 000, Tuzla Bosnia and Herzegovina Tel: +387 35 225 027 Fax1: +387 35 225 027 Fax2: +387 35 364 039 E-mail: point@knjiga.ba	Planet Zoe, 2010.	2	28.00	56.00
14.	<i>150 igara prstićima za razvoj fine motorike i govora,</i> G. Osmanova		Planet Zoe, 2010.	2	28.00	56.00
					GRAND TOTAL	510.00

No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
1.	LEGO City Shelves beginner set island	1. Ekupi d.o.o. za trgovinu i usluge Aleja Bosne srebrene 34 71000 Sarajevo, Bosnia and Herzegovina Tel. +387 33 755 911 E-mail: info@ekupi.ba	LEGO Set of 92 pcs for children from 5 - 12 years of age.	Plastic	2	31.50	63.00
2.	LEGO Chima Zaron u gnijezdo		The set includes figurines, 2 pieces of weapon, Speedor, shooter, power lifter, 6 CHIs and 5 playing cards. It is used to practice precision and timing, and can be played by 1 to 2 players. It is intended for children from 6 years of age and above.	Plastic	2	46.50	93.00
3.	Wooden cubes tower – Viga (6 pcs)		Six colourful wooden cubes that can fit one into another or on another. Motives: animals, vehicles, fruit and numbers. Great for learning colours and shapes, they help develop motor skills. Size: 48 x 11 x 11 cm. Age 2+. The edges are rounded. They are used to learn colours, shapes, and help develop motor skills.	Wood	2	35.00	70.00
4.	Wooden puzzle farm (24 pcs)		Classic wooden puzzles of 24 pcs. To help stacking, the shapes are pre-drawn on the mat. Motive: farm. Size 30 x 22.5 x 1 cm. Age 3+. The edges are rounded. They are used to learn colours, shapes, and help develop motor skills.	Wood	2	13.50	27.00
5.	Wooden puzzle safari		Thickness including the mat 4.4 mm. Containing different number of pieces	Cardboard or Wood	2	10.90	21.80

			depending on the type. Those containing fewer number of pieces indicate the non-recommended age: The components are made in different forms, some of which are recognizable to children, because they correspond to figurines and animals. Puzzle pieces fit into a frame that prevents the stacked image to disassemble. By assembling jigsaw puzzle in an image, a child is looking for a corresponding shape that is also indicated on the surface, and thus compares colours and shapes.				
6.	Wooden puzzle vehicles (18 pcs)		With 18 pieces, 9 characters can be assembled. Motive: vehicles. Size: 20 x 20 x 2,5 cm. Age 1,5+.	Wood	2	21.00	42.00
7.	Memory game Findus and Pettson	1. Logovita d.o.o. 88000 Mostar Tel./faks: +387 36 328 020 E-mail: logovita@tel.net.ba	Game of pairs (memory) in a wooden box, with characters and drawings from colouring book on Pettson and Findus. 32 cards, 16 pairs.	Wood	2	19.00	38.00
8.	Math game Findus 1+9=10	2. LEFTOR d.o.o. POINT knjižara Aleja Alije Izetbegovića 10, 75 000, Tuzla Bosnia and Herzegovina Tel: +387 35 225 027 Fax1: +387 35 225 027 Fax2: +387 35 364 039 E-mail: point@knjiga.ba	A set of mathematical cards (47 cards per set) to learn numbers, Quantity and adding to 10, with characters from the Pettson and Findus colouring books. Possibility of playing many mathematical card games for one and more players. A simple and fun way to learn counting and adding up. International version.	Wood, cardboard	2	10.00	20.00
9.	Math game Findus 9-1=8		The kit contains 90 play cards with characters from colouring books on Pettson and Findus. In a simple and fun way, we learn the basics of mathematics and subtraction. A lot of ideas for various mathematical games with children aged 4 to 7. For one and more players.	Wood, cardboard	2	19.00	38.00

10.	Wooden puzzle butterfly (9 pieces)	1. Ekupi d.o.o. za trgovinu i usluge Aleja Bosne srebrene 34 71000 Sarajevo, Bosnia and Herzegovina Tel. +387 33 755 911 E-mail: info@ekupi.ba	Jigsaw puzzle with the theme of the Amazon Forest with four different photos showing the development of a butterfly from a caterpillar. A child learns this natural phenomenon and develops motor and logic skills.	Wood	2	43.75	87.50
11.	Wooden puzzle teddy bear (4 pcs)		A 4 pieces puzzle that shows a teddy bear after assembling. It is used to stimulate cognitive development and fine motor skills.	Wood	2	6.50	13.00
12.	Visual stories – time sequence,	1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b 71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM: +387 61 167 790 e-mail: trisarinn@hotmail.com 2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs) Import and distribution of teaching toys and equipment, production of	The set consists of 36 frames, 36 plasticized cards of 5x5 cm size The set of cards consists of 8 thematically different stories in which the order of events should be correctly arranged. The cards fit into plastic frames that can stand on the table or stick to the wall. The back of the cards contains a validation symbol.	Plastic, adhesive tape	2	75.00	150.00
13.	Puzzle numbers – arms and legs		Frame size: 36,5x36,5 cm Jigsaw with 10 fingers and toes, for insertion. Every finger is numbered 1 through 10, as well as the set of numbers.	Wood	2	34.00	68.00
14.	Magnet numbers (162 pcs)		Magnet numbers from 0 to 9, mathematical symbols (+, -, =, %, /, x) packed in a portable plastic box.	Plastic	2	22.00	44.00
15.	Magnet letters (310 pcs)		Big magnet letters, packed in a portable plastic box.	Plastic	2	38.00	76.00
16.	Magnet board		Size: 40x28 cm Magnet board and whiteboard.	Magnet	2	13.00	26.00
17.	Big insert pets	Size: 50x16 cm A large wooden insert specifically designed for toddlers and children with	Wood	2	28.00	56.00	

		furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zq.t-com.hr , info@idadidacta.hr	development disorders. It has large handles that make it easy to pick up four different pets. Size: 29,5x24,5x4 cm With their cheerful colours and form, discovery games encourage toddlers to explore the world around them. Because of the large handles, these are ideal toys for children with motor disabilities.				
18.	Meadow discovery			Wood	2	16.00	32.00
19.	Forest discovery	3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr	Frame size: 28x28 cm. With their cheerful colours and form, discovery games encourage toddlers to explore the world around them. Because of the large handles, these are ideal toys for children with motor disabilities.	Wood	2	22.00	44.00
20.	My home discovery		Frame size: 28x28 cm. Traditional educational toy intended for toddlers. When a child lifts up a certain part of the jigsaw, an image below it appears.	Wood	2	22.00	44.00
21.	Educational wheel board		Size: board (83x70 cm), stand (83x43x92 cm). Thanks to the large elements this educational board is primarily intended for younger age. According to the set template on the back of the board, children arrange elements of identical colour and shape. The front of the board simply opens, so the templates change in a moment. The set contains: 224 plastic geometric shapes, 6 double-	Plastic	2	224.00	448.00

			sided cards with assignments and a stand with the board.				
22.	Perception game ToPoLoGo		Wooden box with a magnetic side and a mirror size 25x25x12 cm, double-sided wooden panel with grooves, 36 wooden figurines, 30 cards with tasks (3 levels of difficulty), card holder. "To", "behind" or "in front" - In ToPoLoGo games, 2D cards can be converted to 3D images, the spatial position of the object is easily explained thanks to the figurines and motifs of the game that are adapted to the child's age. Cards are divided into three levels of difficulty and depict scenes and characters in different spatial positions to be copied on a grid panel - with or without a magnetic board and mirror.	Wood, glass	2	100.00	200.00
23.	Cards – cause and consequence		48 cards of 15x15 cm size The set contains 24 pairs of cards illustrating how „one thing leads to another“, or what causes a specific situation and what are the consequences. A specific situation is shown on the first card and the child predicts the possible outcome that will be shown on the next card. The cards depict desirable and unwanted situations, positive and negative.	Wood or cardboard	2	75.00	150.00
24.	Cards – find the difference		50 cardboard cards (25 pairs) size 19.5x13.5 cm, teacher's guide, card holder, plastic case.	Cardboard, Plastic	2	48.00	96.00

			Pairs of cards differ in series of details: change of position or colour of an object, omission of certain elements, etc. The assignment is to identify and explain differences and encourage communication skills.				
25.	Cards – find an intruder		48 cards of 21x15 cm size The game develops the ability of observation and cognitive skills. Each card depicts items belonging to the same category, except one which is an intruder among them. The first level of difficulty depicts 4 items, the second one 5 items, the third one 6 items. For example, the card shows: ice cream, popcorn, candy and swan or oranges, lemon, lime, grapefruit, tangerine and pear. Which one is an intruder?	Cardboard, Plastic	2	74.00	148.00
26.	Cards and a CD with external sounds		40 cards of 21x15 cm size Encouraging speech development. The set contains a CD with 40 sounds that we usually hear outside and the respective photos. They are divided into 4 groups: Animals and birds - bees, sheep, ducks, horses ... Exterior sounds - traffic, mower, waves, car alarm ... Fun - fireworks, tennis, swimming ... Transport - car, train, plane, helicopter...	Cardboard	2	99.00	198.00
27.	School board 150x120		Size: 150x120 School board to be mounted on the wall.	Coated metal sheet	2	248.00	496.00

28.	Geometry forms – puzzle		Size: 16x16 cm. The logic jigsaw consists of 3 geometric shapes divided into halves. They differ in colour and the way they are cut. It seems easy to find another couple, but for small children it's a real challenge. It consists of 18 parts.	Wood	2	13.00	26.00
29.	Development puzzle turtle		Size of the frame: 24x24x2 cm A wooden puzzle designed to help children learn about the stages of growth and development of animals. The puzzle is divided into 4 development stages, i.e. a puzzle whose number of elements increases commensurate to the increase of the depicted object. The puzzle consists of 31 parts.	Wood	2	33.00	66.00
30.	Layered puzzle four seasons		Size: 34x22 cm Beautiful wooden puzzle that tell a story about a boy and a tree. They both change with passing of the season, and it is up to children to discover how by playing the layered puzzle. Each puzzle stack consists of 7 parts.	Wood	2	37.00	74.00
31.	Puzzle animals and offspring		Size of the frame: 24x24 cm. Series of 8 beautiful cheerful puzzle for children in the age between 3 and 5. each puzzle consists of 6 to 12 plastic parts, stacked in a wooden frame.	Wood	2	113.00	126.00
						GRAND TOTAL	3,081.30

--

ASSISTIVE TECHNOLOGY, OFFICE EQUIPMENT AND FURNITURE

No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
1.	Boardmaker Plus! v.6 s Boardamker Player Lab – Pack for Windows	1. United Kingdom Office DynaVox Mayer-Johnson Tachbrook Park 36 Plato Close Leamington Spa Warwickshire CV34 6WE Tel. +44 808 168 2779 Fax. +44 808 280 1604 E-mail: enquiries@dynavox.co.uk	Software that enables the preparation of quizzes, worksheets, storybooks, games, etc. in the form of a printed or interactive material.	/	2	1500.00	3,000.00
2.	Boardamker with Speaking Dynamically Pro for Windows		Software that converts a computer into a word-reproducing apparatus. It enables imitation of sounds from nature, word prediction and is used as a tool for voice-speech-language difficulties.	/	2	1,500.00	3,000.00
3.	Laptop LENOVO YOGA 500-14, OS Windows 10	1. ProComp d.o.o. Vojvodića put br. 6, 72000, Zenica, BiH Tel. +387 32 221 654	Computer is used for preparation of working material, use of therapy software, preparation of reports and work administration.	/	2	1,625.00	3,250.00
4.	Tablet Samsung TAB S 8.4" Amoled		Used for therapy applications.	/	2	619.00	1,238.00
5.	Round table 100cm, height 58 cm	1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b 71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM: +387 61 167 790 e-mail: trisarinn@hotmail.com	Size: table 100 cm height 58 cm. Tables are made of beech wood and coated with transparent waterproof varnish. The work surface is protected by ultrapass with fine and rounded outer edges.	Wood	4	235.00	940.00
6.	Kids' chair, height 38cm		Size: height 38 cm. Anatomically shaped chairs made of beech wood. Surface	Wood	16	65.00	1,040.00

		2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs) Import and distribution of teaching toys and equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr , info@idadidacta.hr	protected with transparent waterproof varnish. Size: 95x40x80 cm. Furniture with children's motives cheers up the little ones and beautifies every space. Front elements made of MDF panels with three-dimensional motifs. The carcass is made of enamel birch wood.	Wood	8	363.00	2,904.00
7.	Sliding door closet.						
8.	Foldable mat with children motives	3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr	Size: 197,5x114x5 cm Covered with PVC fabric that is easy to wash and maintain. It can be used for exercise, but also as a two-seater for rest and reading. Decorative, fun and cheerful, ideal for a child's corner.	/	8	199.00	1,592.00
9.	Desk with a drawer + extractable panel	1. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	W 129 cm x L 106 cm x H 83 cm. Desk with 3 drawers size 129x106x83cm. Upper panel 18 mm, remaining 15 mm. Including an extractable keyboard panel.	Wood	2	188.00	376.00
10.	Office chair		W 59 cm x L 62 cm x H 114 cm. The seat and back in fabric or faux leather. Plastic armrests, base and wheels. Gas mechanism with height adjustment function,	Metal, plastic, fabric, faux leather	2	95.00	190.00

			load capacity up to 110 kg				
11.	Office cabinet with doors and shelves		W 80 cm x L 45 cm x H 120 cm. Max load capacity/shelf: 40 kg.	Wood and plywood	4	300.00	1.200.00
12.	Carpet fish pond	<p>1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b 71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM: +387 61 167 790 e-mail: trisarinn@hotmail.com</p> <p>2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs) Import and distribution of teaching toys and equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr, info@idadidacta.hr</p> <p>3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia</p>	Size: 200x300x0.5 cm. Big carpet helps in learning colours and numbers: how many fish in a pond? How many red animals? Which animals are in the field? The carpet can be with other motives, but with the same size, length and width, possibly more thickness.	Poliamid, rubber mat	2	200.00	400.00

		Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr						
							GRAND TOTAL	19,130.00

SUPPLIES					
No.	Name	Supplier	Quantity	Unit price (KM)	Total price (KM)
1.	Wooden pencils 1/12. Colour: set of colours.	<p>1. Exclusive web shop za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	20	4.85	97.00
3.	Paper A4, Smart copy		40	7.00	280.00
4.	Index notebook A4 1/100		100	4.60	460.00
5.	Tix cube 51x51 mini Pastel 1/250		60	1.50	90.00
6.	Tix index film 12x43, 5x20 sheets		100	3.26	326.00
7.	White flip chart paper. Pack: 12 sheets in a roll.		50	2.90	145.00
8.	Colour paper 1/500		40	15.00	600.00
9.	Marker textliner Globox 4/1 6582 Marker text highlighter Globox. Pack: 4 pcs in a pack. Colour: set of four. Manufacturer: Globox		40	3.40	136.00
10.	Crayons Colourino 1/24. Colour: set of colours.		20	2.80	56.00
11.	Paint in a plastic box. Pack: 1/1. Colour: 14 colours in a pack.		12	8.20	98.40
12.	Water colours in a plastic box. Pack: 1/1. Colour: 12 colours.		12	3.40	40.80
13.	Oil colours 1/8. Colour: set of colours.		20	6.10	122.00
14.	Wash sponge		20	1.50	30.00
15.	Brush 1/8 mix of water colours and paint.		40	3.40	136.00
16.	Brush cup Clic&Go. Pack 1/1. Colour: assorted.		60	3.95	237.00
17.	Plasticine 1/24. Colour: assorted.		60	5.95	357.00

18.	Decorative tape in rolls of 9 cm. Colour: assorted colours and designs.	30	1.25	37.50
19.	Liquid glue OHO. Pack: 7 gram.	60	0.50	30.00
20.	Stick glue 21gr.	40	0.65	26.00
21.	Protective tape 25X50	40	3.40	136.00
22.	Adhesive tape Top tape in a box. Size: 19x33. Pack: 1/1.	50	2.25	112.50
23.	Thin cord 100 gram. Colour: natural.	20	1.65	33.00
24.	Office scissors. Size: 14 cm. PVC handle. Colour: assorted.	48	1.50	72.00
25.	Desk punch with two holes. Colour: assorted. Punch capacity: 25 sheets. Punch for: A4, A5 i A6. Pack: 1 pcs.	24	7.90	189.60
26.	Handheld mini stapler. Construction: metal. Type of stapling: classic. Using staples: 24/6. Pack: 1 pcs.	12	5.10	61.20
27.	Staples. Ref: 24/6, 23/8, 23/10, 23/13, 23/15, 23/17. Pack: 1000 staples in a pack.	200	0.90	180.00
28.	Binder „U“ 100/1	20	7.00	140.00
29.	Folder A4 wide CLASIC	40	9.00	360.00
			GRAND TOTAL	4,589.00

The supply of Speech therapy equipment requires a total of 40,942.35 KM.

4.2. PHYSIOTHERAPY DIVISION

No standardized tests translated into the Bosnian/Croatian/Serbian language are used for the assessment and monitoring of children, instead forms developed on the basis of several foreign standardised tests are being used:

- Gross Motor Function Measure (G.M.F.M.),
- Paediatric Evaluation of Disability Inventory (P.E.D.I.),

- Toddler and Infant Motor Evaluation (T.I.M.E.),
- Bruininks Oseretsky Test of Motor Proficiency,
- Transdisciplinary Play Based Assessment,
- Peabody Development Motor Scale i
- Canadian Occupational Performance Measure.

Forms made on the basis of the above-mentioned standardized tests will be presented to the training participants, so that during the training participants will develop competences for the assessment based on these forms. Beneficiary assessment based on the mentioned forms/tests have proven high sensitivity and the treatment results have demonstrated the effectiveness of these tests¹¹.

In addition to the above-mentioned forms, training will be organized in cooperation with the Academy for Development Rehabilitation, during which the participants will acquire the competencies for the use of the entire test G.M.F.M., processing of the obtained results and planning of the treatment based on the obtained results.

This will ensure quality assessment and monitoring of the effects of physiotherapy on children with disabilities, whereas the continuing professional development of physiotherapists and special needs therapists at the Centres for Development of Inclusive Practice will enable introduction of additional therapeutic procedures (Bobath and Vojta therapy) that have shown the best results in international practice when it comes to the treatment of children with high neuro-risk (high prematurity¹² and other prenatal, perinatal and postnatal risk factors).

To that end, this section will describe the specification of equipment without diagnostic tests.

THERAPY AIDS							
No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
1.	Sissel Robust massage table	1. MEDICAL d.o.o. A. Buca 28/1, 88 000 Mostar, BiH Tel: +387 36 557 180	Size: 188 x 72cm, height 63-87cm, 19 kg. Height-adjustable headrest, mountable armrests. Soft lining, foldable. It is used for	Wood, faux leather	2	782.00	1,564.00

¹¹ Forms/tests are used to determine physiotherapeutic treatment in the Mali dom institution in Zagreb, Srce Association in Sv. Ivan Zelina and Children Hospital Klaićeva in Zagreb.

¹² Premature deliveries (before 32nd week of pregnancy).

		GSM: +387 61 144 451 Fax: +387 36 580 588 E-mail: info@medical.ba	physiotherapy treatment in working with children with disabilities.				
2.	Sissel Portal Pro – massage chair	2. SONO MEDICAL Azize Šaćirbegović bb, 71000 Sarajevo, BiH Tel/fax: +387 33 711 551 GSM: 061 10 04 02 3. Medivita Karlovac Andrije Hebranga 15, 47 000 Karlovac, Croatia Tel/Fax: 047 432 380	Applied in physical therapy, orthopaedics, neural therapy. Portable and adjustable. Each element is individually adjusted and adapted to the individual needs of the child and the therapist. Soft pads and seat adjustable to every body shape. It ensures the physiological position of the child during long- term treatment. 7 adjustment modes.	Metal, faux leather	2	972.00	1,944.00
3.	Semi-massage tactile ball, diameter 40cm	1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b 71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM: +387 61 167 790 e-mail: trisarinn@hotmail.com	Ball diameter: 40 cm. Semi-spiky, semi-smooth surface ideal combination for senso-motor exercises and muscle stimulation.	Rubber	2	53.00	106.00
4.	Massage tactile ball, diameter 75cm		Size: ball diameter 75 cm. Spiky surface of the ball is ideal for rehabilitation, gymnastics and massage. Relaxing and stimulating muscles.	Rubber	2	74.00	148.00
5.	Tai-Chi ball	2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs)	Size: diameter 20 cm. Tai-Chi ball is intended for the development of motor skills and the improvement of movement coordination. Strengthens the flexibility of the joints, increases self-confidence and improves the ability of response and concentration, improves balance while the body is on the move	Plastic	2	84.00	168.00

		Import and distribution of teaching toys and equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr , info@idadidacta.hr	Beginner level: roll the inner ball on the green strip by moving the wrist. Intermediate level: roll the inner ball on the green strip by moving the hand. Advanced level: roll the inner ball on the green strip by moving the whole body.				
6.	Hopper ball, diameter 45cm		Size: diameter 45 cm. A solid ball with a rubber handle that enables a simple and safe game.	Rubber	2	34.00	68.00
7.	Hopper ball, diameter 65cm		Size: diameter 60 cm A solid ball with a rubber handle that enables a simple and safe game.	Rubber	2	47.00	94.00
8.	Ball chair	3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr	Size: diameter 48-52 cm, chair 50x60x79 cm Maximum weight: 135 kg. Its form enhances proper posture and maintaining balance.	Plastic, Rubber	2	193.00	386.00
9.	Vibration massager for the back		Size: 19x8x30 cm. The back massager gently vibrates, relaxes and massages muscles and is used for relaxation. Expandable tapes allow for adjustment of the pillow on any part of the body.	/	2	58.00	116.00
10.	Magnet mirror		Size: 83,5x120 cm. Magnetic strips 16 cm wide. Two magnetic strips on the top and bottom of the mirror allow for placing different magnetic elements on them thus creating cities, roads.	Safety mirror, wooden frame, magnetic strips	2	418.00	836.00
11.	Velcro weight – 1kg	1. MEDICAL d.o.o. A. Buca 28/1, 88 000 Mostar, BiH Tel: +387 36 557 180	Weight: 1kg. Faux leather, the pack contains 1 piece. Used for active movement exercises by	Faux leather	8	53.00	424.00

		GSM: +387 61 144 451 Fax: +387 36 580 588 E-mail: info@medical.ba	children with low muscle tone and for tone normalisation.				
12.	Velcro weight – 2 kg	2. SONO MEDICAL Azize Šaćirbegović bb, 71000 Sarajevo, BiH Tel/fax: +387 33 711 551 GSM: 061 10 04 02	Weight: 1kg. Faux leather, the pack contains 1 piece. Used for active movement exercises by children with low muscle tone and for tone normalisation.	Faux leather	8	61.00	488.00
13.	Spiky twin roller	3. Medivita Karlovac Andrije Hebranga 15, 47 000 Karlovac, Croatia Tel/Fax: 047 432 380	A roller with two connected hedgehog balls and handles on each side. Used for muscle tension reduction and for muscle massage along the spine. It promotes circulation and metabolism. Suitable for reflexology.	Rubber	4	35.00	140.00
14.	Massage roller		Roller for massage and relaxation. Improves circulation and removes tension. Size: diameter 15 cm, length 45 cm.	Sponge/Rubber	4	60.00	240.00
15.	Mat	1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b 71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM: +387 61 167 790 e-mail: trisarinn@hotmail.com	Size: 200x100x6cm. Foam sponge, density 80 kg/m3. Cover: impregnated blue fabric with leather angles, removable. Used for exercises and kids' games on the floor.	Sponge, impregnated fabric, leather	2	275.00	550.00
		2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs)					

		<p>Import and distribution of teaching toys and equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr, info@idadidacta.hr</p> <p>3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr</p>					
16.	Noppen hedgehog ball 7cm	1. MEDICAL d.o.o. A. Buca 28/1, 88 000 Mostar, BiH Tel: +387 36 557 180 GSM: +387 61 144 451 Fax: +387 36 580 588 E-mail: info@medical.ba	Hedgehog (balls) for balance, sensomotoric exercises. Rubberised, 7 cm diameter.	Rubber	4	8.00	32.00
17.	Noppen hedgehog ball 9 cm		Hedgehog (balls) for balance, sensomotoric exercises. Rubberised, 7 cm diameter.	Rubber	4	13.00	52.00
18.	Spiky ball – yellow set	2. SONO MEDICAL Azize Šaćirbegović bb, 71000 Sarajevo, BiH Tel/fax: +387 33 711 551 GSM: 061 10 04 02	Soft ball for sensomotoric exercises, rubber spiky ball, set.	Soft rubber	4	23.00	92.00

		3. Medivita Karlovac Andrije Hebranga 15, 47 000 Karlovac, Croatia Tel/Fax: 047 432 380					
19.	BOSCH PPW3401 personal scale	1. Stanić-Trade D.O.O Binježevo BB, Sarajevo, BiH Tel: +387 33 292 200 E-mail: Info@stanic- trade.com 2. Salon tehnike Domod Srđana Aleksića 20, 71000 Sarajevo, BiH Tel. +387 33 771 830 E-mail: info@domod.ba	Body measurement scale for child's first visit and continued body weight monitoring.	Glass/metal	2	75.00	150.00
20.	Vibroacoustic sound pillow	1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b 71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM: +387 61 167 790 e-mail: trisarinn@hotmail.com 2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs) Import and distribution of teaching toys and	Size: 150x100x50 cm. A large vibroacoustic pillow filled with polyethylene balls that adapt to the user's body, while the outer lining is made of foamed sponge which keeps the user in positin and protects from falling out. The built- in speaker emits vibrations ideal for relaxing of tense muscles and stimulating circulation. Helps sensomotor development and provides heavy relaxation. It also has a built-in sound system.	Polietilen, foam sponge	2	2,813.00	5,626.00

		<p>equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr, info@idadidacta.hr</p> <p>3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr</p>						
							GRAND TOTAL	13,224.00

SUPPLIES					
No.	Name	Supplier	Quantity	Unit price (KM)	Total price (KM)
1.	Basic massage cream, 1000ml	1. MEDICAL d.o.o.	10	44.00	440.00
2.	Citrus massage oil, 1000ml	A. Buca 28/1, 88 000 Mostar, BiH	10	33.00	330.00
3.	Sensitive massage cream 500ml	Tel: +387 36 557 180	20	33.00	660.00
4.	Sensitive massage oil, 1000ml	GSM: +387 61 144 451 Fax: +387 36 580 588	10	33.00	330.00
5.	Hydrex disinfection lotion, 5l	E-mail: info@medical.ba	6	106.00	636.00
6.	Paper roll for one-time use 60cmx80m	2. SONO MEDICAL Azize Šaćirbegović bb, 71000 Sarajevo, BiH Tel/fax: +387 33 711 551 GSM: 061 10 04 02	20	19.00	380.00

		3. Medivita Karlovac Andrije Hebranga 15, 47 000 Karlovac, Croatia Tel/Fax: 047 432 380			
7.	Paper A4, Smart copy	1. Exclusive web shop za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba	20	7.00	140.00
8.	Index notebook A5		40	4.60	184.00
9.	Binder „U“ 100/1		8	7.00	56.00
10.	Folder A4 wide CLASIC		20	9.00	180.00
11.	Printer ink	2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	20	20	400.00
GRAND TOTAL					3,736.00

ASSISTIVE TECHNOLOGY, OFFICE EQUIPMENT AND FURNITURE

No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
1.	Laptop LENOVO YOGA 500-14, OS Windows 10 Home	1. ProComp d.o.o. Vojvodića put br. 6, 72000, Zenica, BiH Tel. +387 32 221 654	A computer is used for preparation of working material, use of therapy software, preparation of reports and work administration.	/	2	1,625.00	3,250.00
2.	Tablet Samsung TAB S 8.4" Amoled		Used for therapy applications.	/	2	619.00	1,238.00
3.	Round table 100cm, height 58 cm	1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b	Size: table 100 cm height 58 cm.	Wood	4	235.00	940.00

		71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM: +387 61 167 790 e-mail: trisarinn@hotmail.com	Tables are made of beech wood and coated with transparent waterproof varnish. The work surface is protected by ultrapass with fine and rounded outer edges.				
4.	Kids' chair, height 38cm	2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs) Import and distribution of teaching toys and equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr , info@idadidacta.hr	Size: height 38 cm. Anatomically shaped chairs made of beech wood. Surface protected with transparent waterproof varnish..	Wood	8	65.00	520.00
5.	Sliding door closet.	Import and distribution of teaching toys and equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr , info@idadidacta.hr	Size: 95x40x80 cm. Furniture with children's motives cheers up the little ones and beautifies every space. Front elements made of MDF panels with three-dimensional motifs. The carcass is made of enamel birch wood.	Wood	8	363.00	2,904.00
6.	Foldable mat with children motives	3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr	Size: 197,5x114x5 cm Covered with PVC fabric that is easy to wash and maintain. It can be used for exercise, but also as a two-seater for rest and reading. Decorative, fun and cheerful, ideal for a child's corner.		4	199.00	1,592.00
7.	Carpet fish pond	3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr	Size: 200x300x0,5 cm. Big carpet helps in learning colours and numbers: how many fish in a pond? How many red animals? Which animals are in the field? The carpet can be with other motives, but with the same	Poliamid, rubberised mat	2	200.00	400.00

			size, length and width, possibly more thickness.				
8.	Desk with a drawer + extractable panel	1. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	W 129 cm x L 106 cm x H 83 cm. Desk with 3 drawers size 129×106×83cm. Upper panel 18 mm, remaining 15 mm. Including an extractable keyboard panel.	Wood	2	188.00	376.00
9.	Office chair		W 59 cm x L 62 cm x H 114 cm. The seat and back in fabric or faux leather. Plastic armrests, base and wheels. Gas mechanism with height adjustment function, load capacity up to 110 kg	Metal, plastic, fabric, faux leather	2	95.00	190.00
10.	Office cabinet with doors and shelves		W 80 cm x L 45 cm x H 120 cm. Max load capacity/shelf: 40 kg.	Wood and plywood	4	300.00	1,200.00
GRAND TOTAL							12,610.00

The supply of Physiotherapy division equipment requires **a total of 29,570.00 KM**

4.3. OCCUPATIONAL THERAPY DIVISION

Occupational therapeutic assessment is performed in two segments. The first segment involves the assessment by non-standardized tests, which imply the collection of all relevant data related to the functioning of the child in daily life activities. This information is collected from parents/guardians, family members, doctors, social workers, educators, teachers and all persons involved in the process of fostering child development, who are available to the therapist.

The second segment of child functioning data collection is performed by using standardised tests that are not officially translated into Bosnian/Croatian/Serbian, and most frequently the following tests are used:

- Canadian occupational performance measure,

- Miller assessment for pre-schoolers,
- Sensory Integration and Praxis test.

Since these tests are not available for official use in the territory of Bosnia and Herzegovina, and they are the only ones used in the neighbouring countries, the occupational therapists and special needs therapists working at the Centres for Development of Inclusive Practice will attend the training concerning the practical use of these tests.

Occupational therapists who will be employed at the Centres for Development of Inclusive Practice are definitely familiar with both non-standardized and standardized child assessment and monitoring methods and will have sufficient initial knowledge to start working, and during the first year of the Centre's operation, they will intensively work on improving their knowledge and skills, both in the field of assessment and monitoring, as well as in the field of implementation of therapeutic procedures.

For the above reasons, this section will specify the equipment needed for occupational therapy work with children with disabilities.

TEACHING TOOLS AND AIDS							
No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
1.	Mat	1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b 71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM:	Size: 200x100x6cm. Foam sponge, density 80 kg/m3. Cover: impregnated blue fabric with leather angles, removable. Used for exercises and kids' games on the floor.	Sponge, impregnated fabric, leather	4	275.00	1,100.00

2.	Stairs	<p>+387 61 167 790 e-mail: trisarinn@hotmail.com</p> <p>2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs) Import and distribution of teaching toys and equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr, info@idadidacta.hr</p>	<p>Size: the smallest staircase 55x40x11 cm, the largest staircase 63x45x41 cm Stairs are suitable for use in kindergartens, schools and therapeutic facilities. There are numerous stacking options: one behind another, in a circle, as a podium for the competitive games. They can fit one into another and save space. The set consists of 8 stairs in 4 colours and 4 heights.</p>	Plastic, Wood	2	598.00	1,196.00
3.	<p>Training parachute</p> 	<p>3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr</p>	<p>The parachute is pulled while running in order to be inflated thereby training the speed with the natural air resistance.</p>	Fabric	2	28.00	56.00
4.	Wooden abacus		<p>Wooden abacus to learn adding. Size 30,5 x 24 x 14 cm. Dob 3+. The colours used should be non-toxic. Edges rounded. Used to learn Colour, shape, helps</p>	Wood	2	23.00	46.00

			develop motor and cognitive skills.				
5.	Social game Jenga- wooden tower		Size: W 11,50 x L 8,00 x H 28,00 cm. Age: 6+ Jenga is a social game played with 54 wooden tiles. The game is intellectually and psychologically stimulating. The cubes are pulled out of the structure and attached to the top. A person whose entire structure collapses loses.	Wood	2	18.00	36.00
6.	Ever earth – wooden centre for motor skills 5in1		This game includes five games for child entertainment and coordination and imagination development. Size: 20 x 20 x 20 cm. Five different games: computing balls, mini memory, sorting forms, inserting forms and labyrinth with wooden balls. Suitable for age: from 2 to 5 years. Brand name: EverEarth	Wood, metal	2	115.00	230.00
7.	Mathematical vegetables		A large set of multi-coloured rubber vegetables (144 pcs) helps learn sorting, adding, dividing, subtracting.	Rubber	2	40.00	80.00

8.	Mathematical fruit		large set of multi-coloured rubber fruit (108 pcs) helps learn sorting, adding, dividing, subtracting.	Rubber	2	25.00	50.00
9.	Abacolour – geometry forms		Length of holder: 24 cm 100 forms, 24 cards with assignments and the holder help learn the basic mathematical operations (adding and subtracting) as well as understanding categorisation and classification.	Plastic	2	18.00	36.00
10.	Magnet labyrinth – train		Size: 19,5x15,5x1,5 cm. Vivid small labyrinth for a single player, with a grip.	Magnet	2	16.50	33.00
11.	Magnet wall clock		1 magnetic board (71x71 cm), 1 set of magnetic hands, 26 magnetic images (8x8 cm). Children use this clock to get a sense of time and how to use it. When do you have breakfast? When do you dress up? What is the gap between these two events? 26 magnetic cards depict the usual child activities throughout the day. Place them on the clock panel and determine their sequence.	Magnet	2	99.00	198.00

12.	Magnet board – body		<p>Size of panel: 70x100 cm.</p> <p>The assembled body height is 90 cm. The set contains a magnetic school board and 18 wooden parts of the human body, which have a magnet on their back. A child can assemble the body of a boy or a girl.</p>	Magnet, Wood	2	135.00	270.00
13.	Colour and size insert		<p>Size: 17x17x6 cm</p> <p>The initial sorting of geometric elements by colour, size and shape. How many slots in a racks and how do they differ? In how many ways can you stack the shapes? How many colours and how do they differ?</p>	Wood	2	19.00	38.00
14.	Building blocks – transport (163 pcs)		<p>Size of the wooden panel: 60x60 cm.</p> <p>Painted wooden cubes for building a large transport and transit Centre! A set of 163 pieces of cubes, cars, figurines, trees and a stadium, subway, cranes and planes are the source of fun games that will last for hours. It contains a large, painted 5-parts wooden panel.</p>	Wood	2	298.00	596.00
15.	Little builder Simon with tools		<p>The clutch can be extracted up to 15 cm.</p>	Wood	2	480.00	960.00

			Back side: plywood 71x25 cm. Below the table there is a space with a sliding door (62x24x20 cm). Size: 71x94x54 cm, height from 58 cm to 73 cm. Height adjustable junior table. Comes with a toolkit set (32 pieces in total).				
16.	Bead set (250 pcs)		Size of beads: up to 2.4 cm Plastic shiny beads in 5 colours and 6 different forms and 8 laces packed in a plastic box with a lid. Excellent for children above 3 years and used for the games of sorting, beading, adding and memory.	Plastic	2	50.00	100.00
17.	String forms (81 pcs)		A set of large plastic buttons (circle, triangle, square) and 27 strings in 3 colours. Suitable for beading, adding, sorting, classifying. Each shape has 4 holes that enable different ways of tying the strings. They are packed in a plastic box with a lid.	Plastic	2	32.50	65.00
18.	Clothing game – girl		Size: 30x23 cm With their cheerful colours and forms, discovery encourage young children to explore the world	Wood	2	7.00	14.00

			around them. Because of the large handles, ideal toys for children with motor disabilities.				
19.	Lotto spring/summer		Size of the frame: 40x28 cm Set of lotto jigsaw puzzle with a 2 season theme. Children must correctly stack 8 images (plastic cards) on each season. In addition to entertainment, they serve to educate children about the basic characteristics of each season, and how they differ.	Wood	2	27.50	55.00
20.	Lotto autumn/winter		Size of the frame: 40x28 cm Set of lotto jigsaw puzzle with a 2 season theme. Children must correctly stack 8 images (plastic cards) on each season. In addition to entertainment, they serve to educate children about the basic characteristics of each season, and how they differ.	Wood	2	27.50	55.00
21.	Ability game – fishing		Box size: 40x12x12 cm A fun and challenging ability game. Harvesting the same colour fish by using a stick and then transferring them to a stand in the same	Plastic	2	39.00	78.00

			colour. Whoever thinks it's easy should try fishing and test the speed and precision. An excellent game for children with motor disabilities. Contents: 4 fishing rods, 4 holders, 12 fish.				
22.	Ability game – cheese and mouse		Panel size: 27x35 cm By playing this game, children practice hand and eye co-ordination and perfect their fine motor skills. The goal of the game is to move the ball to the top without it falling down into cheese holes. 2 balls and a wooden play board.	Wood	2	27.50	55.00
23.	Resulta – logical sequence		Size: cards 8x8 cm, box: 33x12x5 cm The aim of the game is to find three cards that are interconnected in the following way: the original shape - semi-finished product - finished product (eg sheep-wool-sweater). This game encourages logical thinking and is excellent for speech development and group work. Cards cover 16 different themes.	Cardboard/Wood	2	65.00	130.00
24.	Visual stories – time sequence		The set consists of 36 frames, 36 plasticized cards 5x5 cm size	Plastic, adhesive tape	2	75.00	150.00

			<p>The set of cards consists of 8 thematically different stories in which the order of events should be correctly arranged. The cards fit into plastic frames that can stand on the table or stick to the wall. A validation symbol is provided in the back.</p>				
25.	Ability test game		<p>Size of the strip: 100x20 cm, arches 26 cm. It encourages the development of a wide range of social skills necessary for teamwork. Test your skills! Load the cubes on the wagon, but make sure it does not stuck on the way down. The sides of the wagon must go through all the arcs. The arches are of the same height, but not the same shape. Carefully plan the load distribution to avoid collision. The more arcs, the more complex manoeuvre. Contents: wooden wagon, strip, 16 different blocks, 7 different arcs.</p>	Wood	2	245.00	490.00
26.	Magnetic cards Masterchef		<p>160 magnetic cards of 6x6 cm size. According to the recipe, the players select the cards with</p>	Magnet	2	115.00	230.00

			<p>ingredients and print the quantities and measures on the write-delete cards. The ingredient cards are placed on the magnetic plate according to the order of their preparation, and next to them the cards with a procedure symbol are placed. This way of learning teaches children on how to be independent in everyday life, introduces them to food types and their treatment, teaches them healthy nutrition and the importance of timely planning. 160 magnetic cards of which 20 are for writing, 1 write-delete marker</p>				
27.	Wooden mosaic blocks		<p>Cube size 4.5x4.5 cm. Size of the stand: 21.5x21.5 cm One side of the cube is blank while the remaining five have the identical blue pattern. With 16 large wooden blocks, children need to make different geometric motifs. Throughout the game, they reveal the basic features of geometric shapes.</p>	Wood	2	42.50	85.00
28.	Crocodile tweezers (12 pcs)		Size: 10 cm	Plastic	2	22.00	44.00

			An aid for tweezer grip - the key to perfecting fine motor skills. Tweezers come in 6 colours, packed in a box with a handle.				
29.	Explore nature set		Size: diameter 15 cm, height 30 cm. Practical and versatile set for the first and true exploration of plant and animal life. Contents: bug container with magnifying glass, mesh, magnifying glass, tweezers.	Plastic	2	32.50	65.00
30.	Water cycle		Size: 51x31x12 cm Demonstrate a natural water cycle: Fill the sea with water and place a few ice cubes in the cloud. Use the table lamp as the sun and observe what is happening. The sun vaporizes sea water. They seem to be condensed in a cold cloud. Rain is falling. The river collects rainwater and drains it back into the sea. The water cycle is closed. Contents: Water basin relief, cloud cover.	Plastic	2	86.50	173.00
31.	Magnetic map of Europe		Size: 21x42 cm. Magnetic map of Europe with over 45 illustrated magnetic tiles. They include the states, the	Magnet	2	147.50	295.00

			sea, mountain ranges, rivers and sights. A great tool for teaching geographic features.				
32.	Tangled circle		Size: a wooden circle of an birch plywood of 18 cm diameter and 3 strings of the length of 15 cm. A tangled circle in a fun way teaches shapes, numbers, develops fine motor skills, concentration and creativity. 2,4,6,8,10 ... Moving from one number to another according to a particular sequence, they create imaginative and symmetrical patterns. Even without knowing the numbers, they can create a number of characters and shapes. Children intuitively perceive colours and first computing operations.	Wood, fabric	2	29.00	58.00
						GRAND TOTAL	7,067.00

ASSISTIVE TECHNOLOGY, OFFICE EQUIPMENT AND FURNITURE

No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
-----	------	----------	---------------------------------------	----------	----------	-----------------	------------------

1.	Laptop LENOVO YOGA 500-14, OS Windows 10 Home	1. ProComp d.o.o. Vojvodića put br. 6, 72000, Zenica, BiH Tel. +387 32 221 654	Computer is used for preparation of working material, use of therapy software, preparation of reports and work administration.	/	2	1,625.00	3,250.00
2.	Tablet Samsung TAB S 8.4" Amoled		Used for therapy applications.	/	2	619.00	1,238.00
3.	Round table 100cm, height 58 cm	1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b 71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM: +387 61 167 790 e-mail: trisarinn@hotmail.com 2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs) Import and distribution of teaching toys and equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr , info@idadidacta.hr	Size: table 100 cm height 58 cm. Tables are made of beech wood and coated with transparent waterproof varnish. The work surface is protected by ultrapass with fine and rounded outer edges.	Wood	8	235.00	1,880.00
4.	Kids chair height 38cm		Size: height 38 cm. Anatomically shaped chairs made of beech wood. Surface protected with transparent waterproof varnish..	Wood	16	65.00	1,040.00
5.	Sliding door closet.		Size: 95x40x80 cm. Furniture with children's motives cheers up the little ones and beautifies every space. Front elements made of MDF panels with three- dimensional motifs. The carcass is made of enamel birch wood.	Wood	8	363.00	2,904.00
6.	Foldable mat with children motives		Size: 197,5x114x5 cm Covered with PVC fabric that is easy to wash and maintain. It can be used for exercise, but also as a two-seater for rest and reading. Decorative, fun and		4	199.00	1,592.00

		3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr	cheerful, ideal for a child's corner.				
7.	Carpet fish pond		Size: 200x300x0,5 cm. Big carpet helps in learning colours and numbers: how many fish in a pond? How many red animals? Which animals are in the field? The carpet can be with other motives, but with the same size, length and width, possibly more thickness.	Polyamide, rubberised mat	2	200.00	400.00
8.	Desk with a drawer + extractable panel		W 129 cm x L 106 cm x H 83 cm. Desk with 3 drawers size 129x106x83cm. Upper panel 18 mm, remaining 15 mm. Including an extractable keyboard panel.	Wood	2	188.00	376.00
9.	Office chair	1. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	W 59 cm x L 62 cm x H 114 cm. The seat and back in fabric or faux leather. Plastic armrests, base and wheels. Gas mechanism with height adjustment function, load capacity up to 110 kg	Metal, plastic, fabric, faux leather	2	95.00	190.00
10.	Office cabinet with doors and shelves		W 80 cm x L 45 cm x H 120 cm. Max load capacity/shelf: 40 kg.	Wood and plywood	4	300.00	1,200.00
GRAND TOTAL							14,070.00

SUPPLIES

No.	Name	Supplier	Quantity	Unit price (KM)	Total price (KM)
-----	------	----------	----------	-----------------	------------------

1.	Wooden pencils 1/12. Colour: set of colours.		10	4.85	48.50
2.	Paper A4, Smart copy		20	7.00	140.00
3.	Index notebook A4 1/100		50	4.60	230.00
4.	Tix cube 51x51 mini Pastel 1/250		20	1.50	30.00
5.	Tix index film 12x43, 5x20 sheets		30	3.26	97.80
6.	White flip chart paper. Pack: 12 sheets in a roll.		20	2.90	58.00
7.	Colour paper 1/500		20	15.00	300.00
8.	Marker text liner Globox 4/1 6582 Marker text highlighter Globox. Pack: 4 pcs in a pack. Colour: set of four. Manufacturer: Globox		10	3.40	34.00
9.	Crayons Colourino 1/24. Colour: set of colours.	1. Exclusive web shop za uredski program	10	2.80	28.00
10.	Paint in a plastic box. Pack: 1/1. Boja: 14 colours in a pack.	Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina	6	8.20	49.20
11.	Water colours in a plastic box. Pack: 1/1. Colour: 12 colours.	tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba	6	3.40	20.40
12.	Oil colours 1/8. Colour: set of colours.		10	6.10	61.00
13.	Wash sponge		10	1.50	15.00
14.	Brush 1/8 mix of water colours and paint.	2. R&S d.o.o.	10	3.40	34.00
15.	Brush cup Clic&Go. Pack 1/1. Colour: assorted.	Igmanska b.b.	10	3.95	39.50
16.	Plasticine 1/24. Colour: assorted.	(Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	20	5.95	119.00
17.	Decorative tape in rolls of 9 cm. Colour: assorted colours and designs.		10	1.25	12.50
18.	Liquid glue OHO. Pack: 7 gram.		20	0.50	10.00
19.	Stick glue 21gr.		20	0.65	13.00
20.	Protective tape 25X50		10	3.40	34.00
21.	Adhesive tape Top tape in a box. Size: 19x33. Pack:1/1.		10	2.25	22.50
22.	Thin cord 100 gram. Colour: natural.		10	1.65	16.50
23.	Office scissors. Size: 14 cm. PVC handle. Colour: assorted.		4	1.50	6.00
24.	Binder „U“ 100/1		20	7.00	140.00
25.	Folder A4 wide CLASIC		40	9.00	360.00
				GRAND TOTAL	1,918.90

The supply of Occupational therapy division equipment requires **a total of 23.055,90 KM.**

4.4. SENSORY THERAPY DIVISION

The diagnosis of sensory integration disorders in Croatia implements the System for Sensory Integration Dysfunction Assessment¹³ (Viola, S. G, 2002, translation and adaptation prepared for standardization), Zagreb: Faculty of Education and Rehabilitation, University of Zagreb. Translation and adaptation were made by Fulgosi-Masnjak R, Osmančević L, Lang M, 2004. This system is not on the market, and training participants (staff of the Centres for Development of Inclusive Practice) will be trained on how to implement it in practice by attending the training that will be organized in the first year of the Centre's operation.

To this end, this section will specify the equipment required for the quality implementation of sensory therapy in order to develop sensory integration in children with disabilities.

TEACHING TOOLS AND AIDS							
No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
1.	Balance board	1. MEDICAL d.o.o. A. Buca 28/1, 88 000 Mostar, BiH Tel: +387 36 557 180 GSM: +387 61 144 451 Fax: +387 36 580 588 E-mail: info@medical.ba	Balance board of size 150 x 60 x 17 cm on a wooden semi-circular surface coated faux leather or hard fabric on the upper side. It is used to stimulate the development of sensory integration, balance, orientation in space and normalization of muscle tone.	Wood, faux leather/fabric	2	725.00	1,450.00

¹³ The Western European countries use the standardised system developed by Viola, S.G. (2002.).

2.	Balance platform - wooden	2. SONO MEDICAL Azize Šaćirbegović bb, 71000 Sarajevo, BiH Tel/fax: +387 33 711 551 GSM: 061 10 04 02	Diameter 40 cm. Aid for therapy, neurological treatments and stimulation of motor development. It is used to practice balance and strengthen the feet and leg muscles.	Wooden board with aluminium base.	2	102.00	204.00
3.	Sissel Balancefit - red	3. Medivita Karlovac Andrije Hebranga 15, 47 000 Karlovac, Croatia Tel/Fax: 047 432 380	Size approx. 34 cm. A specially designed air-filled pillow, with two surfaces of different textures. Intended for balance exercises, circulation exercises, balance, active and dynamic seating.	Rubber	2	45,00	90.00
4.	Togu jumper 52cm		Size approx. 52 cm. Patented Dynair technology (2/3 ball). An exceptionally strong bounce effect. Greater stability for the knees and ankles. Slip-resistant. Material for better hand grip, double-sided use, good transmission of vibration.	Rubber	2	462.00	924.00
5.	Multisensor tent	1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b 71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM: +387 61 167 790 e-mail: trisarinn@hotmail.com 2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs) Import and distribution of teaching toys and	Size: 250x250 cm. By adjusting the rods height can be lowered to 207 cm. Bag on wheels, size: 40x40x160 cm. The use of sensory equipment such as projectors and optical fibres is very effective in relaxation and rehabilitation. Use this sensor tent to achieve even better effect of the listed equipment. It provides a comfortable and intimate atmosphere, in which light effects prominently help calm the hyperactive children and children with autism spectrum disorders. The tent is quickly and easily mounted, the interior can be dimmed almost 100%. Ideal for individual or group therapy. Contents: tent, frame, portable bag.	Fabric, metal	2	1,472.50	2,945.00
6.	Sensor projector box		Set for various sensory experiences. It consists of a number of aids that stimulate visual perception (Oasis	/	2	2,499.00	4,998.00

		<p>equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr, info@idadidacta.hr</p>	<p>projector, umbrella projection, space cloth, timers ...), tactile perception (spiky balls, sensory surfaces, ABC cards, massage rod ...), sound perception (talking bracelet, sound recorders, sound cubes, rain balls). Massagers (hedgehog balls, vibrating pillow, massage roller ...) and aromatic tubes and balls to stimulate the sensation of smell. All these products are packaged in a portable box with a lid.</p>				
7.	Lotto – vegetable garden smells	<p>3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr</p>	<p>Size: 23,5x23,5x3,5 cm. The aim of the game is to recognize the smells of popular fruits and vegetables and to explain their characteristics. The game can be played in four different ways. Game time: about 20 minutes. Number of players 2-5. Age: 4+ Content: 32 picture cards, 16 aroma diffusers: apricot, dill, basil, cherry, strawberry, raspberry, mandarin, melon, blackberries, walnuts, parsley, pear, apple, potato, rhubarb, thyme.</p>	Wood/cardboard/fabric	2	80.00	160.00
8.	Lotto – home smells		<p>Size: 23,5x23,5x3,5 cm. The game can be played in four different ways. Time to play: about 20 minutes. Number of players 2-5. Age: 5+ Content: 32 picture cards, 16 diffuser flavours: peanuts, coca cola, pencil, skin, ointment, polish, incense, fire, boiled milk, makeup, honey, bread, colour, soap, tobacco, tea.</p>	Wood/cardboard/fabric	2	80.00	160.00
9.	Lotto – garden smells		<p>Size of packaging: 23,5x23,5x3,5 cm. The set contains various garden fragrances. There are four different ways in which Lotto fragrances can be played. Game time: about 20 minutes. Number of players 2-5. Age: 6+</p>	Wood/cardboard/fabric	2	80.00	160.00

			Content: 32 picture cards, 16 aroma diffusers: stables, figs, hay, grass, hyacinth, ivy, lilac, mint, mimosa, pine, rosemary, rose, bush, wetland, linden, herbs.				
10.	Tactile strips – rolls (4 pcs)		Size of strips: 148x30x3 cm A set of 4 colourful carpets designed for the development of sensory motor skills. Made of solid, plastic rollers. Children can walk, run, jump, roll around and stimulate their senses. By using vacuum tips, the mats adhere to the smooth surface, which prevents their slipping.	Plastic	2	314.00	628.00
11.	Tactile discs – set 1		Size: diameters 11 and 27 cm. Maximum load capacity: 100 kg. Innovative tactile material that simultaneously develops the sensation of hand and leg touch. The discs are made of synthetic rubber, contain various tactile structures and of their own colours. Each tactile structure is located on a large disk placed on the floor and a small disk held by the child's hands. There are numerous possibilities of the game: from the basic recognition of two identical patterns to eye-bandage games based on memory and sensory perception. Each set consists of 5 large and 5 small discs, eye bandage, linen bag.	Sinthetic rubber	2	117.50	235.00
12.	Wavy tactile strip – blue		Size: 68x17x10 cm. Tactile patterns and strip height are designed to provide an intense sensory experience. They can be arranged in a circular or flat manner and thus change the shape as desired. The mild slopes on the 4	Sponge/faux leather/synthetic rubber	2	312.50	625.00

			sides of the strip not only allow balance control of the front and rear, but also stimulate the left and right balance. Its main purpose: enhances muscular development and tactile stimulation, improves coordination of movement and sense of injury, calms emotions and improves concentration, builds confidence and develops the ability to plan, children learn to adapt to the spatial environment through building it.				
13.	Hedgehog ball green 7cm		Size: diameter 7 cm A rubber ball, pleasant spiky surface, ideal for sensomotoric exercises.	Rubber	8	4.00	43.00
14.	Hedgehog ball red 9cm		Size: diameter 9 cm A rubber ball, pleasant spiky surface, ideal for sensomotoric exercises.	Rubber	8	6.00	48.00
15.	Hedgehog ball blue 15 cm		Size: diameter 15 cm A rubber ball, pleasant spiky surface, ideal for sensomotoric exercises.	Rubber	8	14.50	116.00
16.	Massage tactile ball 75cm		Size: ball diameter 75 cm The spiky surface of the ball is ideal for rehabilitation, gymnastics and massage. Relaxes and stimulates muscles	Rubber	2	74.00	148.00
17.	Net ball 10cm		Size: 10 cm. Weight: 85 g/pc. Soft and flexible, designed for throwing, catching and rolling. Their unique structure allows these three motor functions to be practiced in many ways - even with one finger.	Rubber	6	17.50	103.50
18.	Bell ball (6 pcs)		Size: diameter 18 cm. Weight: 190 g. Each ball has 3 small bells inside that allow the return tactile sound information to the player. They come in a 6 colour set.	Plastic	2	71.50	143.00

19.	Graphomotorics set		Card size: 33,5x22 cm. Box size: 37x23x4,5 cm. Writing exercise set and pen hold control. It contains 10 plastic-coated „write-delete“ boards divided into 4 rows: the first line shows the default pattern, the second shows the beginning of writing the pattern, the third line to be filled out independently by copying and the fourth one is to write independently within the set guideline. In addition to the cards, the set contains 3 black pens, which can be used to write on the board countless times.	Plastic	2	100.00	200.00
20.	Writing aid S		A soft pencil holder is designed so that the child learns from the very beginning to hold the pen in the proper way: between the thumb, forefinger and middle finger. It is a excellent aid for all children who learn to write, especially for children with development disorders.	Rubber	12	1.50	18.00
21.	Clothing frames (6 pcs)		Size: 41x37 cm Montessori frames help children to master different ways of tying clothes so that they can become self-sufficient and dress up independently as soon as possible. The frames are made of wood on which the fabric with slips is fastened.	Wood, fabric	2	155.00	310.00
22.	Holder for frames		Size: 20,5x39,5x47,5 cm Wooden rack for disposal of 6 clothing frames.	Wood	2	80.00	160.00
23.	Mini trampoline 123cm		Size: height 123 cm Mini trampoline with 8 legs and slip-resistant edges. Ideal for training or therapeutic use. Maximum permissible weight: 100 kg	Rubber, metal, net	2	90.00	180.00

24.	Therapeutic stones		<p>Pack: 5 kg (in a bag)</p> <p>Stone therapy is a very effective method of treating the weakness of muscles of the arm, leg, lower leg, upper arm. Part of the muscle is trained in a series of exercises without the risk of straining. Mechanical friction is produced by stones - two different sizes of rounded, smooth stones generate resistance in an almost neutral direction. PVC-resistant, non-toxic, hygienic and completely safe to use stones.</p>	PVC	2	132.50	265.00
25.	Tactile boxes (10 pcs)		<p>Size: 18x19x11 cm</p> <p>In this game, the child uses hands and feet at the same time. It's a fun way to practice basic tactile skills and speech development. There are different samples in 10 boxes. Each of them has a pattern circle shown on the lid, which is identical to the one in the box. Children need to find identical pairs by holding the circle while at the same time touching the patterns in the boxes. Activities can be adapted to the child's age and abilities. Set contains 10 boxes with samples: velvet, artificial grass, net, gravel, barbed surface, foam rubber, cork, metal, sandpaper, plexiglass.</p>	velvet, artificial grass, net, gravel, barbed surface, foam rubber, cork, metal, sandpaper, plexiglass	2	662.50	1,325.00
26.	Braille alphabet		<p>Size of plates: 8x6,5 cm</p> <p>Aid for children with development disorders and for blind and visually impaired children. It consists of 26 letters of the English alphabet, printed on both sides: on one side printed and on the other side script letters. Each letter is printed in relief and includes a</p>	Wood	2	44.00	88.00

			Braille letter at the bottom, i.e. a symbol r that represents the letter.				
27.	Interactive pool with balls M		Ball size, diameter 7,5 cm. Pool size: 145x145x66 cm. The interactive pool on its edges has 4 keys (circles) to change colour. Among the 4 offered, select the one that will slip through the transparent balls: e.g. press the red circles and the balls will illuminate red. To be used in a dimmed room. The pool comes together with buttons and balls. Works at 240V.	Plastic, Rubber	2	3,987.50	7,975.00
28.	Set of lighting signals		Set for a dark chamber that will attract children into an exciting visual adventure. Each object was carefully selected according to its sensory and motor characteristics. Content (may vary): 2 animal figurines, coloured balls, 2 fibre optic fountains, 2 illuminated animals, 3 eggs with changing colour.	/	2	174.00	348.00
29.	Printed letters – tactile		Size of the wooden mat: 16x13 cm. Learning letters and their pronunciation through a multisensor approach. The child hears the letter being pronounced, sees how it looks like and feels how it is printed. A set of 26 letters cut out from sand paper on a wooden surface	Wood, sandpaper	2	70.00	140.00
30.	Set of numbers – tactile		Size of the wooden mat: 16x13 cm. Set of 10 numbers cut out from sandpaper on a wooden surface. The rough surface of sandpaper makes the procedure of mental learning more effective and interesting.	Wood, sandpaper	2	30.00	60.00
31.	Mat		Size: 200x100x6cm	Foam sponge, fabric, leather	8	275.00	2,200.00

			Foam sponge, density 80 kg/m3. Cover: impregnated blue fabric with leather angles, can be removed.				
GRAND TOTAL							26,449.50

OFFICE EQUIPMENT AND FURNITURE							
No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
1.	Laptop LENOVO YOGA 500-14, OS Windows 10 Home	1. ProComp d.o.o. Vojvodića put br. 6, 72000, Zenica, BiH Tel. +387 32 221 654	Computer is used for preparation of working material, use of therapy software, preparation of reports and work administration.	/	2	1,625.00	3,250.00
2.	Tablet Samsung TAB S 8.4" Amoled		Used for therapy applications.	/	2	619.00	1,238.00
3.	Round table 100cm, height 58 cm	1. TRISAR-INN UČILA d.o.o. Envera Šehovića 16b 71000 Sarajevo Bosnia and Herzegovina Tel./Fax: +387 33 651 771 GSM: +387 61 167 790 e-mail: trisarinn@hotmail.com	Size: table 100 cm height 58 cm. Tables are made of beech wood and coated with transparent waterproof varnish. The work surface is protected by ultrapass with fine and rounded outer edges.	Wood	8	235.00	1,880.00
4.	Kids' chair, height 38cm		Size: height 38 cm. Anatomically shaped chairs made of beech wood. Surface protected with transparent waterproof varnish.	Wood	16	65.00	1,040.00
5.	Sliding door closet.	2. IDA DIDACTA (furnishing kindergartens and institutions for children with special needs)	Size: 95x40x80 cm. Furniture with children's motives cheers up the little ones and beautifies every space. Front elements made of MDF panels	Wood	8	363.00	2,904.00

		Import and distribution of teaching toys and equipment, production of furniture for kindergartens Ulica biskupa Josipa Galjufa 5/II 10000 Zagreb, Croatia Tel: +385 1 45 50 311 Fax: +385 1 45 50 320 E-mail: ida-didacta@zg.t-com.hr , info@idadidacta.hr	with three-dimensional motifs. The carcass is made of enamel birch wood.				
6.	Foldable mat with children motives		Size: 197,5x114x5 cm Covered with PVC fabric that is easy to wash and maintain. It can be used for exercise, but also as a two-seater for rest and reading. Decorative, fun and cheerful, ideal for a child's corner.	PVC fabric	4	199.00	1,592.00
7.	Carpet fish pond	3. Astreja plus d.o.o. Karlovačka cesta 4j 10 000 Zagreb, Croatia Tel: +385 1 66 22 246 Fax: +385 1 66 22 245 E-mail: info@astrejaplus.hr	Size: 200x300x0,5 cm. Big carpet helps in learning colours and numbers: how many fish in a pond? How many red animals? Which animals are in the field? The carpet can be with other motives, but with the same size, length and width, possibly more thickness.	Poliamid, rubberised mat	2	200.00	400.00
8.	Desk with a drawer + extractable panel		W 129 cm x L 106 cm x H 83 cm. Desk with 3 drawers size 129x106x83cm. Upper panel 18 mm, remaining 15 mm. Including an extractable keyboard panel.	Wood	2	188.00	376.00
9.	Office chair	1. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	W 59 cm x L 62 cm x H 114 cm. The seat and back in fabric or faux leather. Plastic armrests, base and wheels. Gas mechanism with height adjustment function, load capacity up to 110 kg	Metal, plastic, fabric, faux leather	2	95.00	190.00
10.	Office cabinet with doors and shelves		W 80 cm x L 45 cm x H 120 cm. Max load capacity/shelf: 40 kg.	Wood and plywood	4	300.00	1,200.00
GRAND TOTAL							14,070.00

SUPPLIES

No.	Name	Supplier	Quantity	Unit price (KM)	Total price (KM)
1.	Wooden pencils 1/12. Colour: set of colours.	1. Exclusive web shop za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Hercegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	10	4.85	48.50
2.	Paper A4, Smart copy		20	7.00	140.00
3.	Tix cube 51x51 mini Pastel 1/250		20	1.50	30.00
4.	Tix index film 12x43, 5x20 sheets		30	3.26	97.80
5.	White flip chart paper. Pack: 12 sheets in a roll.		20	2.90	58.00
6.	Colour paper 1/500		20	15.00	300.00
7.	Marker textliner Globox 4/1 6582 Marker text highlighter Globox. Pack: 4 pcs in a pack. Colour: set of four. Manufacturer: Globox		10	3.40	34.00
8.	Crayons Colourino 1/24. Colour: set of colours.		10	2.80	28.00
9.	Paint in a plastic box. Pack: 1/1. Boja: 14 colours in a pack.		6	8.20	49.20
10.	Water colours in a plastic box. Pack: 1/1. Colour: 12 colours.		6	3.40	20.40
11.	Oil colours 1/8. Colour: set of colours.		10	6.10	61.00
12.	Wash sponge		10	1.50	15.00
13.	Brush 1/8 mix of water colours and paint.		10	3.40	34.00
14.	Brush cup Clic&Go. Pack 1/1. Colour: assorted.		10	3.95	39.50
15.	Plasticine 1/24. Colour: assorted.		20	5.95	119.00
16.	Decorative tape in rolls of 9 cm. Colour: assorted colours and designs.		10	1.25	12.50
17.	Liquid glue OHO. Pack: 7 gram.		20	0.50	10.00
18.	Stick glue 21gr.		20	0.65	13.00
19.	Protective tape 25X50		10	3.40	34.00
20.	Adhesive tape Top tape in a box. Size: 19x33. Pack:1/1.		10	2.25	22.50
21.	Thin cord 100 gram. Colour: natural.	10	1.65	16.50	

22.	Office scissors. Size: 14 cm. PVC handle. Colour: assorted.		4	1.50	6.00
23.	Binder „U“ 100/1		20	7.00	140.00
24.	Folder A4 wide CLASIC		40	9.00	360.00
				GRAND TOTAL	1,688.00

The supply of the Sensory therapy division equipment requires **a total of 42.207,50 KM.**

4.5. PSYCHO-SOCIAL SUPPORT DIVISION

The Psychosocial Support Division will not perform diagnostic procedures and therefore will not use the parental assessment toolkit. The Division will operate in accordance with the protocol that will be described in the Terms of Reference and Codes of Ethics of the Centre for Development of Inclusive Practice.

The Division will perform diagnostics solely for children by using the Development test Čuturić until the age of 8. Training concerning the implementation of the test will be organized.

This section will indicate the specification of toolkits, equipment, furniture and office materials needed for the work of the Psycho-Social Support Division.

CHILD ASSESSMENT AND MONITORING TOOLKIT					
No.	Name	Supplier	Quantity	Unit price (KM)	Total price (KM)
1.	104-01-RTČ Test (Development test Čuturić)	1. Naklada Slap d.o.o. Dr. Franje Tuđmana 33 10450 Jastrebarsko CROATIA Tel.00385 1 6281 774; 00385 1 6284 001 E-mail: nslap@nakladaslap.com	2	454.00	908.00
2.	104-02-RTČ-M/LO		100	0.75	75.00
3.	104-03-RTČ-P/LO		100	0.50	50.00
4.	104-90-ČUTURIĆ: Manual for DTČ		2	50.00	100.00
				GRAND TOTAL	1,133.00

OFFICE EQUIPMENT AND FURNITURE

No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
1.	Laptop LENOVO YOGA 500-14, OS Windows 10 Home	1. ProComp d.o.o. Vojvodića put br. 6, 72000, Zenica, BiH Tel. +387 32 221 654	Computer is used for preparation of working material, use of therapy software, preparation of reports and work administration.	/	2	1,625.00	3,250.00
2.	Tea table	1. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	Size: Š 75 x V 30 x D 75 cm. Colour: white, high shine. Square form, on two levels with the possibility of rotating upper part.	MDF wood imitation	2	400.00	800.00
3.	Two-seater		Size: W 154 x L 95. Seat width: 58 cm. Seat height: 49 cm. Height: 89 cm. Colour: beige.	Highly elastic PU foam (cold foam) 35 kg/m ³ , polyester fibre, wire-worn core	4	850.00	3,400.00
4.	Armchair		Size: W 78 x L 85. Seat width: 64 cm. Seat height: 53 cm. Seat height: 45 cm. Height: 80 cm. Colour: beige/brown.	PU foam, polyester fibre, wood, ply wood	4	500.00	2,000.00
5.	Desk with a drawer + extractable panel		W 129 cm x L 106 cm x H 83 cm. Desk with 3 drawers size 129×106×83cm. Upper panel 18 mm, remaining 15 mm. Including an extractable keyboard panel.	Wood	2	188.00	376.00
6.	Office chair		W 59 cm x L 62 cm x H 114 cm. The seat and back in fabric or	Metal, plastic,	2	95.00	190.00

			faux leather. Plastic armrests, base and wheels. Gas mechanism with height adjustment function, load capacity up to 110 kg	fabric, faux leather			
7.	Office cabinet with doors and shelves		W 80 cm x L 45 cm x H 120 cm. Max load capacity/shelf: 40 kg.	Wood and plywood	4	300.00	1,200.00
8.	Carpet		Size: 250x250x0.5 cm. Colour: Beige/white or grey/white.	/	2	370.00	740.00
						GRAND TOTAL	11,956.00

SUPPLIES

No.	Name	Supplier	Quantity	Unit price (KM)	Total price (KM)
1.	Wooden pencils 1/12. Colour: set of colours.	1. Exclusive web shop za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba	10	4.85	48.50
2.	Paper A4, Smart copy		20	7.00	140.00
3.	Tix cube 51x51 mini Pastel 1/250		20	1.50	30.00
4.	Tix index film 12x43, 5x20 sheets		30	3.26	97.80
5.	White flip chart paper. Pack: 12 sheets in a roll.		20	2.90	58.00
6.	Colour paper 1/500		20	15.00	300.00
7.	Marker textliner Globox 4/1 6582 Marker text highlighter Globox. Pack: 4 pcs in a pack. Colour: set of four. Manufacturer: Globox		10	3.40	34.00
8.	Crayons Colourino 1/24. Colour: set of colours.		10	2.80	28.00
9.	Paint in a plastic box. Pack: 1/1. Boja: 14 colours in a pack.		6	8.20	49.20
10.	Water colours in a plastic box. Pack: 1/1. Colour: 12 colours.		6	3.40	20.40
11.	Oil colours 1/8. Colour: set of colours.		10	6.10	61.00
12.	Wash sponge		10	1.50	15.00

13.	Brush 1/8 mix of water colours and paint.		10	3.40	34.00
14.	Brush cup Clic&Go. Pack 1/1. Colour: assorted.		10	3.95	39.50
15.	Plasticine 1/24. Colour: assorted.		20	5.95	119.00
16.	Decorative tape in rolls of 9 cm. Colour: assorted colours and designs.		10	1.25	12.50
17.	Liquid glue OHO. Pack: 7 gram.		20	0.50	10.00
18.	Stick glue 21gr.		20	0.65	13.00
19.	Protective tape 25X50		10	3.40	34.00
20.	Adhesive tape Top tape in a box. Size: 19x33. Pack:1/1.		5	2.25	11.25
21.	Thin cord 100 gram. Colour: natural.		10	1.65	16.50
22.	Binder „U“ 100/1		20	7.00	140.00
23.	Folder A4 wide CLASIC		40	9.00	360.00
				GRAND TOTAL	1,671.65

The supplies will mostly be used for the implementation of creative techniques in counselling and to record the conducted consultations.

The supply of the Psycho-Social Support Division requires **the total of 14.760,65 KM.**

4.6. MOBILE EXPERT TEAM

The Mobile Expert Team will use the forms that constitute an integral part of the Strategy for Inclusion of Children with Development Disorders in the Una-Sana Canton Education System. For the purpose of initial child and youth observation and assessment, the mobile expert teams will use non-standardized forms that will be provided to members of the mobile expert teams in the course of the Mobile Expert Team Training where they will get training on how to use the forms.¹⁴

¹⁴ Developed forms are used in the course of training of teaching assistants and train the trainers under the project „Improvement of social inclusion of children with disabilities in the Una-Sana Canton“, Save the Children

A part of the assistive technology¹⁵ has already been provided at the Centres for Development of Inclusive Practice and will be an integral part of operation of the Mobile Expert Team who will use it to present the opportunities while advising the educational professionals.

This section describes specification of the equipment needed for the work of the Mobile Expert Team.

ASSISTIVE TECHNOLOGY, OFFICE EQUIPMENT, FURNITURE AND SUPPLIES							
No.	Name	Supplier	Description of size, features and use	Material	Quantity	Unit price (KM)	Total price (KM)
1.	Numicon basic set B, 7 to 9 years, for the classroom	1. Zavod Simetris Morje Log 14, Morje, 2313 Fram Tel: +386 40 395 951 E-mail: info@simetris.si	Numicon is a numerical didactic system that enables global learning of number concepts and the adoption of basic computational operations. It allows working at different levels of knowledge and is used in working with children with disabilities through guided learning and individual work. It is used for teaching of mathematics to children with intellectual disabilities in the lower grades of primary school.	Plastic	2	862.00	1,724.00
2.	Boardmaker Plus! v.6 s Boardamker Player Lab – Pack for Windows	1. United Kingdom Office DynaVox Mayer-Johnson Tachbrook Park 36 Plato Close Leamington Spa Warwickshire	Software that enables the preparation of quizzes, worksheets, picture books, games, etc. in the form of a printed or interactive material.	/	2	1,500.00	3,000.00
3.	Boardamker with Speaking Dynamically Pro for Windows	CV34 6WE Tel. +44 808 168 2779 Fax. +44 808 280 1604	Software that converts your computer into a word reproduction device. It enables imitation of sounds from nature, word prediction and is	/	2	1,500.00	3,000.00

¹⁵ Screens sensitive to touch, adjusted keyboard, mouse and joy-stick.

		E-mail: enquiries@dynavox.co.uk	used as a tool for voice-speech-language disabilities.				
4.	Laptop LENOVO YOGA 500-14, OS Windows 10 Home	1. ProComp d.o.o. Vojvodića put br. 6, 72000, Zenica, BiH Tel. +387 32 221 654	It will be used for the preparation of working material for educators, children and students as well as for the work administration within the MET.	/	8	1,625.00	13,000.00
5.	HP Colour LaserJet Pro MFP M176n multifunctional laser colour printer		It will be used for the preparation of working material for educators, children and students as well as for the work administration within the MET.	/	2	450.00	900.00
6.	Desk with a drawer + extractable panel	1. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	W 129 cm x L 106 cm x H 83 cm. Desk with 3 drawers size 129x106x83cm. Upper panel 18 mm, remaining 15 mm. Including an extractable keyboard panel.	Wood	8	188.00	1,504.00
7.	Office chair		W 59 cm x L 62 cm x H 114 cm. The seat and back in fabric or faux leather. Plastic armrests, base and wheels. Gas mechanism with height adjustment function, load capacity up to 110 kg	Metal, plastic, fabric, faux leather	8	95.00	760.00
8.	Office cabinet with doors and shelves		W 80 cm x L 45 cm x H 120 cm. Max load capacity/shelf: 40 kg.	Wood and plywood	6	300.00	1,800.00
GRAND TOTAL							25,688.00

SUPPLIES

No.	Name	Supplier	Quantity	Unit price (KM)	Total price (KM)
1.	Wooden pencils 1/12. Colour: set of colours.	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina	20	4.85	97.00

		<p>tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>			
3.	Paper A4, Smart copy	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	40	7.00	280.00
4.	Index notebook A4 1/100	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	100	4.60	460.00
5.	Tix cube 51x51 mini Pastel 1/250	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551</p>	60	1.50	90.00

		<p>e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>			
6.	Tix index film 12x43, 5x20 sheets	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	100	3.26	326.00
7.	White flip chart paper. Pack: 12 sheets in a roll.	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	50	2.90	145.00
8.	Colour paper 1/500	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o.</p>	40	15.00	600.00

		Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390			
9.	Marker textliner Globox 4/1 6582 Marker text highlighter Globox. Pack: 4 pcs in a pack. Colour: set of four. Manufacturer: Globox	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	40	3.40	136.00
10.	Boje Crayons Colourino 1/24. Colour: set of colours.	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	20	2.80	56.00
11.	Paint in a plastic box. Pack: 1/1. Boja: 14 colours in a pack.	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis)	12	8.20	98.40

		71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390			
12.	Water colours in a plastic box. Pack: 1/1. Colour: 12 colours.	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	12	3.40	40.80
13.	Oil colours 1/8. Colour: set of colours.	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	20	6.10	122.00
14.	Wash sponge	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	20	1.50	30.00

15.	Brush 1/8 mix of water colours and paint.	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	40	3.40	136.00
16.	Brush cup Clic&Go. Pack 1/1. Colour: assorted.	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	60	3.95	237.00
17.	Plasticine 1/24. Colour: assorted.	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	60	5.95	357.00

18.	Decorative tape in rolls of 9 cm. Colour: assorted colours and designs.	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	30	1.25	37.50
19.	Liquid glue OHO. Pack: 7 gram.	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	60	0.50	30.00
20.	Stick glue 21gr.	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	40	0.65	26.00
21.	Protective tape 25X50	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina	40	3.40	136.00

		<p>tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>			
22.	Adhesive tape Top tape in a box. Size: 19x33. Pack:1/1..	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	50	2.25	112.50
23.	Thin cord 100 gram. Colour: natural.	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	20	1.65	33.00
24.	Office scissors. Size: 14 cm. PVC handle. Colour: assorted.	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p>	48	1.50	72.00

		<p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>			
25.	<p>Desk punch with two holes. Colour: assorted. Punch capacity: 25 sheets. Punch for: A4, A5 i A6. Pack: 1 pc.</p>	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	24	7.90	189.60
26.	<p>Handheld mini stapler. Construction: metal. Type of stapling: classic. Using staples: 24/6. Pack: 1 pcs.</p>	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390</p>	12	5.10	61.20
27.	<p>Staples. Ref: 24/6, 23/8, 23/10, 23/13, 23/15, 23/17. Pack: 1000 staples in a pack.</p>	<p>1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba</p> <p>2. R&S d.o.o.</p>	200	0.90	180.00

		Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390			
28.	Binder „U“ 100/1	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	20	7.00	140.00
29.	Folder A4 wide CLASIC	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	40	9.00	360.00
30.	Printer ink	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis)	20	114.00	2.280.00

		71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390			
31.	Adhesive tape holder. Material: pvc, filled with sand to increase weight. size: 2.5 cm for adhesive tape 15x33 and 19x33.	1. Exclusive web shop za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	12	5.55	66.60
12.	Trash bin. Material: pvc. Colour: assorted. Height: 35 cm, diameter 30 cm.	1. Exclusive web shop za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	12	12.20	146.40
				GRAND TOTAL	7,082.00

The supply of the Mobile Expert Teams requires **the total of 32.770,00 KM.**

4.7. KNOWLEDGE CENTRE

ASSISTIVE TECHNOLOGY, OFFICE EQUIPMENT AND FURNITURE

No.	Name	Supplier		Quantity	Unit price (KM)	Total price (KM)	
1.	Smart Interactive board SB480	1. Printex d.o.o. Sarajevo Hasana Sušića 9 i 11 Sarajevo, Bosnia and Herzegovina Tel. +387 33 269 100 Fax. +387 33 445 573	Interactive board 77 inch 4: 3 Size 160.5 cm W × 127.2 cm H × 12.8 cm D Active display 156.5 cm W × 117.3 cm H Sensitive to stylus and finger touch Easy to use Digitizing resolution approx 32767 × 32767 Windows and Linux operating system support Delivery with the SMART Notebook Learning Software DVIT™ Single-touch technology, Weight 23.2 kg Stylus and USB cable 3m included. Warranty 2 years.	/	2	2,865.00	5,730.00
2.	Laptop LENOVO YOGA 500-14, OS Windows 10 Home	1. ProComp d.o.o. Vojvodića put br. 6, 72000, Zenica, BiH Tel. +387 32 221 654	Computer will be used for training delivery, education, work administration and preparation of working material.	/	2	1,625.00	3,250.00
3.	Tablet Samsung TAB S 8.4" Amoled		Tablet will be used to display contemporary teaching technologies.	/	2	619.00	1,238.00
4.	Oki MFP Colour Laser A4 MC342dn		Laser printer, scanner and copy machine in one. It will be used for the needs of all divisions at the Centre and linked to a network with computers in each of the Divisions.	/	2	877.50	1,755.00
5.	BenQ projektor MX505	1. Printex d.o.o. Sarajevo Hasana Sušića 9 i 11 Sarajevo, Bosnia and Herzegovina Tel. +387 33 269 100 Fax. +387 33 445 573	Resolution XGA 1024x768; Strength 3000 ANSI; Contrast 13000: 1; Normal/Economic/SmartEco/LampSave)* 4500/6000/6500/10000 h; 1.8kg; Noise 28dB (eco); 2W Speaker; D-Sub; USB, RS232 3 year warranty for projector, 12 month for lamp 2000h. The projector will be used to connect to the interactive board and for the needs of the Knowledge Centre.	/	2	833.04	1,666.08

6.	Desk with a drawer + extractable panel	1. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387 33 476 380 Fax: +387 33 476 390	W 129 cm x L 106 cm x H 83 cm. Desk with 3 drawers size 129×106×83cm. Upper panel 18 mm, remaining 15 mm. Including an extractable keyboard panel.	Wood	4	188.00	752.00
7.	Office chair		W 59 cm x L 62 cm x H 114 cm. The seat and back in fabric or faux leather. Plastic armrests, base and wheels. Gas mechanism with height adjustment function, load capacity up to 110 kg	Metal, plastic, fabric, faux leather	4	95.00	380.00
8.	Office cabinet with doors and shelves		W 80 cm x L 45 cm x H 120 cm. Max load capacity/shelf: 40 kg.	Wood and plywood	6	300.00	1,800.00
9.	School bench „Educa“ two-seater	1. Educa – nastavna učila i školska oprema Stjepana Radića 7, 88 000 Mostar, BiH Tel./Fax: +387 36 322974 E-mail: prodaja@educa.ba	Size of the bench 125 x 50 x V 76 cm. Structure of the bench steel pipes 28 mm, wall thickness 1.5 mm with bag hooks. Colour powder coating. Table top plywood of 25 mm, front and shelves coated plywood 18 mm. Edges ABS tape.	Steel, plywood	20	135.00	2,700.00
10.	Desk chair „Educa“		Chair upholstery in the colour according to the client's wishes.		40	75	3,000.00
11.	Printer ink	1. Exclusive web shope za uredski program Kolodvorska 12, 71 000 Sarajevo, Bosnia and Herzegovina tel: 033 725 550 fax: 033 725 551 e-mail: info@exclusive.ba 2. R&S d.o.o. Igmanska b.b. (Ind. zona Unis Pretis) 71320 Vogošća, BiH Tel: +387	Colour: white. Size: 80*100. Pack: 1/1. Manufacturer: Lebez, Italy	Metal	20	200	4,000.00
12.	Flip chart magnetic three-leg board.				2	251.00	502.00

		33 476 380 Fax: +387 33 476 390					
						GRAND TOTAL	26,773.08

TECHNICAL READINGS					
No.	Title and author(s)	Publisher/year of publishing	Quantity	Unit price (KM)	Total price (KM)
1.	Psihologija čitanja od motivacije do razumijevanja: priručnik. Čudina-Obradović, M.	Golden marketing - Tehnička knjiga: Učiteljski fakultet Sveučilišta u Zagrebu, 2014.	4	70.00	280.00
2.	Put do dječjeg srca: priručnik za logopede, stručne suradnike i odgojitelje uz slikovnicu Dicka Brune "Pričaj". Lisica, D.	Zagreb: Golden marketing - Tehnička knjiga, 2004.	4	24.00	96.00
3.	Igre čitanja i pisanja: aktivnosti za razvoj predčitačkih vještina i početnog čitanja i pisanja u predškolskoj dobi i prvom razredu. Moomaw, S., Hieronymus, B.	Buševec: Ostvarenje, 2008.	4	42.00	168.00
4.	Šest koraka u razvoju govora: program rada na razvoju govora i psihičkih funkcija uz pomoć logopedskih bajki. Sizova, O.	Zagreb: Planet Zoe, 2010.	4	34.00	136.00
5.	Verbotonalni pristup djeci s teškoćama sluha, slušanja i govora. Dulčić, A.	Zagreb: ArTresor naklada, 2012.	2	50.00	100.00
6.	Stihovi u pokretu: malešnice i igre prstima kao poticaj za govor. Štanger-Velički, V.	Zagreb: Alfa, 2011.	4	17.50	70.00
7.	Diskalkulija, praktični priručnik. Bird, R.	Lekenik: Ostvarenje, 2004.	4	50.00	100.00
8.	Dar disleksije. Davis, R.D., Braun, E.M.	Zagreb: Alinea, 2001.	4	35.00	140.00
9.	Kako pomoći djetetu s teškoćama u čitanju i pisanju, praktični priručnik. Posokhova, I.	Lekenik: Ostvarenje, 2007.	2	34.00	68.00
10.	Terapijske vježbe kod psihomotoričkih razvojnih smetnji. Linn, M.	Naklada Slap, 2006.	2	25.00	50.00

11.	Senzorna integracija iz dana u dan – obiteljski priručnik za pomoć djeci s teškoćama senzorne integracije. Biel, L., Peske, N.	Ostvarenje, 2007.	4	50.00	200.00
12.	Dijete i senzorna integracija. Ayres, J.,A.	Naklada Slap, 2009.	4	50.00	200.00
13.	Suradnja s roditeljima. Glascoe, F.P.	Naklada Slap, 2002.	4	76.00	304.00
14.	Praktične vještine u psihološkom savjetovanju i pomaganju. Nelson-Jones, R.	Naklada Slap, 2007.	2	100.00	200.00
15.	Psihologija invaliditeta. Vash, C.L., Crewe, N.M.	Naklada Slap, 2007.	2	74.00	148.00
16.	Savjetovatelj – stručnjak. Hackney, H.,L., Cormier, S.	Naklada Slap, 2012.	2	94.50	189.00
17.	Vaše kompetentno dijete. Juul, J.	Educa – nakladno društvo d.o.o., 1996.	2	35.50	71.00
18.	Lutka ima i srce i pamet. Bastašić, Z.	Školska knjiga, 1988.	2	10.00	20.00
19.	Kvalitetna škola – škola bez prisile. Glasser, W.	Educa – nakladno društvo d.o.o., 2005.	2	35.50	71.00
20.	Dječja razvojna psihologija. Berk, E.L.	Naklada Slap, 2015.	2	150.00	300.00
21.	Psihologija obrazovanja. Vizek Vidović, V., Rijavec, M., Vlahović-Štetić, V., Miljković, D.	IEP d.o.o. – VERN Zagreb, 2014.	2	125.00	250.00
22.	Dječak koji je volio prozore: Otvaranje srca i uma djeteta s teškoćama u razvoju. Stacey, P.	Ostvarenje, 2005.	2	38.00	76.00
23.	Otkrijte stil učenja Vašeg djeteta. Willis, M., Hodson, V.	Ostvarenje, 2004.	4	42.00	168.00
24.	Kad se male glave slože – Didaktički komplet za pomoć djeci s teškoćama u učenju. Young, K.	Ostvarenje, 2006.	4	40.00	160.00
25.	Škola bez muke. Schumm, J., S.	Ostvarenje, 2004.	4	35.00	140.00
26.	Teškoće u čitanju? Više NE!. Soboleva, A., Krasnova, S.	Planet Zoe, 2011.	4	33.00	130.00
27.	Pažnja! Razvijamo pažnju u igri. Suncov, A.	Planet Zoe, 2010.	4	33.00	130.00
28.	Prevladavanje teškoća u učenju. Mettus, E., Litvina, A., Burina, E. i dr.	Planet Zoe, 2010.	4	28.00	112.00

29.	Terapija igrom – Kako razviti vještine za razumijevanje djeteta i produbiti odnos s njim. Gjurković, T.	Harfa, 2016.	2	30.00	60.00
30.	ISKLJUČENA DJECA - Revolucionarni program koji pomaže mozak djece s autizmom, disleksijom, ADHD-om i drugim neurološkim smetnjama dovesti u ravnotežu. Melillo, R.	Harfa, 2016.	2	45.00	90.00
31.	ŽIVOTINJSKA PAMETCEDA - 12 inovativnih edukativno-razvojnih igara za rano poticanje intelektualnog razvoja. Orlović, I.	Harfa, 2015.	6	45.00	270.00
32.	Dijete s posebnim potrebama. Greenspan, S., Wieder, S.	Ostvarenje d.o.o., 2004.	2	62.00	124.00
33.	Aspergerov sindrom. Attwood, T.	Naklada Slap, 2010.	2	40.00	80.00
34.	Autizam – pojavni oblici, uzroci, pomoć. Ramschmidt, H.	Naklada Slap, 2009.	2	22.00	44.00
35.	Hiperaktivno dijete. Kocijan-Hercigonja, D., Buljan-Flander, G., Vučković, D.	Naklada Slap, 2004.	2	27.00	54.00
36.	Igre olovkom – predvježne pisanja. Philipps, S.	Naklada Slap, 2011.	4	14.00	56.00
37.	Dijete i igra. Duran, M.	Naklada Slap, 2003.	2	58.00	116.00
38.	Disleksija – potpuni vodič za roditelje i one koji im pomažu. Reid, G.	Naklada Slap, 2013.	4	61.00	244.00
39.	Djeca s posebnim potrebama – Priručnik za odgajatelje, učitelje i roditelje. Kostelnik, J.M., Onaga, E., Rohde, B., Whiren, A.	Alinea, 2004.	4	42.00	168.00
40.	Razlog zbog kojeg skačem. Higashida, N.	NAPOMENA: dostupno isključivo online u .pdf formatu na linku: https://riznicazlatnihideja.files.wordpress.com/2014/03/naoki_higashida_-_razlog_zbog_kojeg_skaem.pdf	/	/	/
				GRAND TOTAL	5,383.00

The supply of the Knowledge Centre requires **the total of 32.156,08 KM.**

4.8. OTHER EQUIPMENT

MONITORING AND EVALUATION OF CENTRES' OPERATION REMOVAL OF ARCHITECTURAL BARRIERS					
No.	Name	Supplier	Quantity	Unit price (KM)	Total price (KM)
1.	Monitoring and evaluation of work in the area of inclusive interventions – MEI (Monitoring - Evaluation - Inclusion)	mikroNET d.o.o. www.mikronet.hr	1	6,000.00	6,000.00
2.	Roby T09 – a caterpillar to eliminate architectural barriers	Thyssenkrupp d.o.o. www.thyssenkrupp-dizala.hr	1	10,509.00	10,509.00 ¹⁶
GRAND TOTAL					16,509.00

Additional clarification of item 1. - Application for monitoring and evaluation of work in the area of inclusive practice - MEI (Monitoring - Evaluation - Inclusion): MEI application was developed under the project funded by the European Social Fund *Development of Pre-school Inclusive Model* in the Republic of Croatia, as one of the standards for inclusive educational institutions. The application is available by downloading from the web browser after subscribing to the use license. The staff of the Centres will be trained on how to use the application. The application covers the following areas of child development: motor, cognitive, speech and language and socio-emotional. After conducting the initial child assessment, the obtained data is entered into the application together with the data and timing of therapeutic procedures affecting the child. Observations on any changes in child development in each of the development areas are recorded at the quarterly level, thereby enabling that there is continuous monitoring of which therapeutic procedures produced the expected impact on child development. The application combines all the available information about the child and provides a quick reporting overview of the child's progress in the area of socialization, emotional development and other development areas. The application is currently being used in early childhood detection and intervention institutions, and at the level of the pilot program for the standardization of inclusive practice in certain kindergartens and lower grades of some elementary schools in the Republic of Croatia.

¹⁶ The cost includes the cost of a caterpillar and transport to the location of the Centre for Development of Inclusive Practice in Cazin. The cost does not include possible costs of customs duties considering that they are calculated by the customs administration authorities of Bosnia and Herzegovina according to the current legislation.

5. SUMMARY OF COSTS

The table below shows the total cost per division.

The indicated prices are retail prices with included VAT costs for Suppliers from the Republic of Croatia. If the products ordered from the Republic of Croatia are not collected in Croatia, but delivered to the site of the Centres for Development of Inclusive Practice, the buyer with registered office located in Bosnia and Herzegovina does not pay VAT in the Republic of Croatia, but assumes the costs of customs duties which are not indicated in the quoted prices since they are calculated by the customs administration of Bosnia and Herzegovina in line with the applicable laws and is not the same for all types of products imported.

DIVISION	COST (KM)
Speech therapy division	39,942.35
Physiotherapy division	29,570.00
Occupational therapy division	23,055.90
Sensory therapy division	42,207.50
Psycho-social support division	14,760.65
Mobile expert team	32,770.00
Knowledge centre	32,156.08
Other costs	16,509.00
GRAND TOTAL	231,791.40 KM